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Examination Name KVS PGT COMMERCE

Exam Date & Time 17-02-2023 03:00:00

Subject : GE_Q01-Q10_PGTCOMM
Question ID:- 181

ANNIHILATE

The word similar in meaning to the above word 1s :
(1)  Consume

(2) Hesitate

(3)  Destrov

(4)  Blame

Options:-

.1, Option ID :- 721,

« 2, Option ID :- 722,

. 3, Option ID :- 723,

. 4, Option ID :- 724,

Answer Given:- 2, Option ID : -722
Question ID:- 182

TRANSIENT

The word opposite in meaning to the above word is :

(1)  Perpetual

(2)  Stiff
(3)  Meaningless
(4) Noble

Options:-

.1, Option ID :- 725,

« 2, Option ID :- 726,

« 3, Option ID :- 727,

. 4, Option ID :- 728,

Answer Given:- 1, Option ID : -725

Question ID:- 183
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Stop playving :

[dentify the Part of Speech of the underlined word.
(1) Participle

(2)  Noun
(3)

(

4)  Interjection

Conjunction

Options:-

.1, Option ID :- 729,

. 2, Option ID :- 730,

« 3, Option ID :- 731,

« 4, Option ID :- 732,

Answer Given:- 2, Option ID : -730
Question ID:- 184

[ expect to get a prize.
Choose the option in which the above sentence has been changed into Passive Voice :

(1) A prize has been expected by him

(2) A prize is expected by me
(3)  Itis expected by me to get a prize
(4) A prize 1s expected of me

Options:-

.1, Option ID :- 733,

. 2, Option ID :- 734,

« 3, Option ID :- 735,

« 4, Option ID :- 736,

Answer Given:- 3, Option ID : -735
Question ID:- 185

Ram said “Hurrah ! [ have scored a gf}al.”
Choose the option in which the above sentence has been changed into Indirect Narration.

(1)  Ram told Hurrah that he had scored a goal

(2) Ram exclaimed that he had scored a goal.
(3)  Ram exclaimed that [ have scored a goal.
(4)  Ram exclaimed with jov that he had scored a goal.

Options:-

.1, Option ID :- 737,

« 2, Option ID :- 738,

« 3, Option ID :- 739,

« 4, Option ID :- 740,

Answer Given:- 4, Option ID : -740

Question ID:- 186
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Rearrange the following jumbled words/phrases into a meaningtul and grammatically correct
sentence.
(A)  manners produced
B) a faverable impression
}y  onome

C
D} his courteous

) (A (D) (C) (D)
b (DY (C) (B (A
3) (D) () (B) (C)
) (B) (C) (D) (&)

Options:-

.1, Option ID :- 741,

« 2, Option ID :- 742,

« 3, Option ID :- 743,

« 4, Option ID :- 744,

Answer Given:- 3, Option ID : -743

Question ID:- 187

[dentity the part of the tollowing sentence that has an error it :

armot one do what one likes of lus own accord ?

(a) (b) () (d)
(1 (a)
(2) ()
(3) (<)
(4)  {d)
Options:-

.1, Option ID :- 745,
« 2, Option ID :- 746,
« 3, Option ID :- 747,
. 4, Option ID :- 748,
Answer Given:- 4, Option ID : -748

Question ID:- 188

pPpetprime.com

[ have been sleeping all night.

[dentity the tense in the above sentence.
(1)  Present Continuous

(2)  Simple Present

(3)  Present Perfect Continuous

(4)  Present Pertect

Options:-

.1, Option ID :- 749,
« 2, Option ID :- 750,
« 3, Option ID :- 751,




Y B

Answer Given:- 3, Option ID : -751
Question ID:- 189

Fill in the blank in the given sentence by choosing the correct option out of the given ones.
[ am happy him helping me.

(1) to;tor

(2)  with ; for

(3)  for; with

(4)  on;on

Options:-

.1, Option ID :- 753,

. 2, Option ID :- 754,

. 3, Option ID :- 755,

. 4, Option ID :- 756,

Answer Given:- 2, Option ID : -754

Question ID:- 190

Fill in the blank in the given sentence by choosing the correct option out of the given ones.

The patient 18 now free danger.
(1)  with

(2) off

(3)  from

(4)  without

Options:-

.1, Option ID :- 757,
« 2, Option ID :- 758,
« 3, Option ID :- 759,

. 4, Option ID :- 760,
Answer Given:- 3, Option ID : -759

Subject : GH_Q11-Q20_PGTCOMM

Question ID:- 191

e faw a0 TrEeT Wt ugeRt waiies 2ea fashew @ e it -

e =E B WA w1 wten, 9 21 stEa 5 aefEe o, g o sy o, e i st o faaw Fa
faeeh T A0 AEd a1 91 2, a9 21 =8 H US4 o 2 [ THH 9 A58l 26 R £ 7 BER A
A7 Al 2, B4 a6 ANE0 | THH §H TTAd HAYAE, ST ST 9iEd H 9 Rl o e H 3
T AT 9ifd | T w6 § | o ST, eI 4 STy & WY el 2 |

ﬁ-.‘j::.i r%:_:

(1) =414 ol fody

(2) =T A Al

(3)  HE-TTEE A
(4)  Y9-#AIN H FERE A
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.1, Option ID :- 761,
« 2, Option ID :- 762,
« 3, Option ID :- 763,
« 4, Option ID :- 764,
Answer Given:- 3, Option ID : -763

Question ID:- 192

A faw w iy Wt ugeRT waitues sfaa fawew w6 e wifs-

T8 = B WA el antey o 2 m 3hEa i aefEa 0, 9y s w9y, e s ste | e e ) e
foeieh R3] @HI HISd = oIidl 2, d9 8H HE H Y@ o' & (o 39 & Heal & 1 2 2 2HRI fadeh
AT AFTAF 377 9 79 5 1 (99 1A, ST e A F WY 9ed ©

2H 1 A =120, FHE YW ¢

(L 4
(2) T
(3) 3=

Options:-

.1, Option ID :- 765,
« 2, Option ID :- 766,
. 3, Option ID :- 767,

. 4, Option ID :- 768,
Answer Given:- 4, Option ID : -768
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Question ID:- 193

=rer faw o e W ey waities 2 e w wee wife-

e =E B WA w1 =iey, 5 21 StEa 5 aefEe o, g o sy o, ey i st © faaw Fa
TS5 31 AN #11Ed a4 Il &, a9 e =8 H 24 o7 £ (% S0 # 5991 2F # £ 7 2WE ek

A AATEF ifa | 79 6 €1 HEE & W, e e F A F W Fed g | Q

H 'Ir"-":iai ':ﬂQ] Al Ee ;.‘] q qﬁ %i
(1) Teld A

(2) HAETYY FEER
(3} HEAT ki
(4) =9 foEn
Options:-
.1, Option ID :- 769,

. 2, Option ID :- 770,
. 3, Option ID :- 771,




Answer Given:- 4, Option ID : -772

Question ID:- 194

e fau T wEir @ ugeRt waitires st famen = wee =il
g 1A g6 WA o1 =ten 70 3tEa i e o, 9 o s o, e i st ¥ faes 5 w1 e

.,

FI-H =i AH-H FoAd! § 7

(1) 99 =0 s

(2) T s s

(3)  TaerE s smetam
(4) A AR i

Options:-

.1, Option ID :- 773,

« 2, Option ID :- 774,

« 3, Option ID :- 775,

. 4, Option ID :- 776,

Answer Given:- 3, Option ID : -775

Question ID:- 195

(1) TAETEHF 9

(2) HITETEE A
(3)  TasErE G
(4) TR FT

Options:-

.1, Option ID :- 777,

« 2, Option ID :- 778,

. 3, Option ID :- 779,

. 4, Option ID :- 780,

Answer Given:- 4, Option ID : -780

Question ID:- 196

(1) dfe
(2) A
(3)  HEEAT

‘IE T EEREE T = A T 2

e & BN Ed 3 S 8, 99 89 S | T34 o7 2 6 TRA # A= 26 A 2 7 BWR e (5
A7 Al 7, BH an @Al AME0 | THH §H T HAYAE, SERTY0 S T H o Al & e H 3
Al HHEF 97 H =99 9 &1 To0E & S, SARaE & S & 91 =l d ©
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.1, Option ID :- 781,
. 2, Option ID :- 782,
. 3, Option ID :- 783,
. 4, Option ID :- 784,
Answer Given:- 4, Option ID : -784

Question ID:- 197

‘eonifad’ HOs T2

(1) B8 99
(2 Tgi w9

(3)  ACYET THE
(4)  HHETE HAE

Options:-

.1, Option ID :- 785,

. 2, Option ID :- 786,

. 3, Option ID :- 787,

. 4, Option ID :- 788,

Answer Given:- 4, Option ID : -788

Question ID:- 198

q59d T2 = 380§

(1) fergen
(2) S
(3) A
(4) =i
Options:-

.1, Option ID :- 789,
. 2, Option ID :- 790,
« 3, Option ID :- 791,
« 4, Option ID :- 792,
Answer Given:- 4, Option ID : -792

Question ID:- 199

aqug ) fe 5l 3

(1) e
(2) 45
(3)  HAER
(4) femer
Options:-

.1, Option ID :- 793,

ekl 'Ui'!]"?{] %I
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« 3, Option ID :- 795,
« 4, Option ID :- 796,
Answer Given:- 1, Option ID ; -793

Question ID:- 200

“eegar HE d e ) e F wifad ow e R
(1) 0

(2) HUETT FFE

(3)  STHIEH R

(4)  FH FE

Options:-

.1, Option ID :- 797,
« 2, Option ID :- 798,
. 3, Option ID :- 799,

. 4, Option ID :- 800,
Answer Given:- 3, Option ID : -799

Subject : GA_Q21-Q30_PGTCOMM
Question ID:- 201

Consider the tollowing statements :

(a) The president of India is elected by an electoral college in accordance with the syster
proportional representation

(b)  The electoral college consists of only the elected members of Lok Sabha, Rajva Sabha
Vidhan Sabhas

Choose the correct answer trom the codes below :

(1) only (a) is correct

(2}  only (b} is correct

(5)  both (a) and (b) are correct

(4)  both (a) and (b) are wrong

faeaferfad Al e foanr +lifsu
(a) HTRA * =0 F A AT AAETSE T & AR U FEEE "ed g A e

(b) Tat=Es w20 § Fad arsa, T=My 0 Al & FEif=a @591 2n @

1 &0 0 F= | WE UL 1 T4 w0
(1) el (a) Wel &
(2)  HaA (b) HE
(3) (o) 0 (b) EH1, T E
) (a) EEe) (b) o] T &

Options:-
.1, Option ID :- 801,
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el B e

« 3, Option ID :- 803,

. 4, Option ID :- 804,
Answer Given:- 3, Option ID ; -803

Question ID:- 202

‘Mission Indradhanush’, a Government of India initiative relates to which of the following ?
(1) literacy programme

(2) plattorm to promote cultural diversity

(3)  vaccination drive

livlihood scheme for members of the LGBTQ community

e HER 1 aee seee frefataa § 9 fags 9§ o gew 272
(1) 1= FEw

(2)  WIERIaE [AETa &1 F2M &1 99

(3} ZleRTeRior sifae

(4) T SOl AT AT W HeE) W T TSR e

Options:-

.1, Option ID :- 805,

. 2, Option ID :- 806,

. 3, Option ID :- 807,

. 4, Option ID :- 808,

Answer Given:- 2, Option ID : -806

Question ID:- 203

Consider the tollowing statements :

(a)  Warren Hastings was the first Governor-General in India to have faced an impeachn
trial i the British Parliament

(b)  Warren Hastings was acquited in the impeachment frial

Choose the correct answer from the codes below :

(1) only (a) is correct

2

only (b) is correct

(2)
(3} both (a) and (b) are correct
(4)

neither (a) nor (b) is correct
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(a) @A FRE fafaw dae H wafimm fo=mm 7 9 F1 J O & Ted TR S o
(by  FHA el &) gerfaEm fa=mm 4 =90 +1 foa =y 91

AT T3 0 e W HE I R TA IS

(1) e (a) TETE

(2)  FAA (b) FETE

(3)  (a) #F (b) &F1 =8 &

(4)  (a) =00 (b) SFT H & w0 oft wE T E

Options:-

.1, Option ID :- 809,

. 2, Option ID :- 810,

« 3, Option ID :- 811,

. 4, Option ID :- 812,

Answer Given:- 1, Option ID ; -809
Question ID:- 204

Which of the following is not a quality of a non-metallic mineral called Mica ?
(1) It splits into thin sheets

(2) It has di-electric strength

(3) It is not resistant to high voltage

(4) It has low power loss factor

fasaferfaa o 9 =1 219+ Ame seicass aige ! favya T8 2 7
(1) 7 waet vz o fanfsm & s @

(2)  THE WAHTA (EE-IeE ) Wi w2

(3) 48 3 dices & gfd wladsl 98 e €

(4) 7 fae@ 7 =@ FE e E

Options:-

.1, Option ID :- 813,

« 2, Option ID :- 814,

. 3, Option ID :- 815,

. 4, Option ID :- 816,

Answer Given:- 1, Option ID : -813
Question ID:- 205

Which of the tollowing statements is incorrect about the European Union (EU) ?

(1)  EU creates a single market for its member

(2) LU has been awarded the Nobel Peace Prize

(3)  DBritain’s exit from EU was through a Referendum

(4)  Slovenia is the only EU member which has not adopted common currency of EU
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(1) RN 59 s Hel T wEe () AR A

(2) %A F A I [T FEE T E

(3)  To7 U SEE WO W W W 7 o EE] g Al

(4)  FTETTEL E 7 AT TR e E TSE € g R " (RE) HIHT R TR AT

Options:-

.1, Option ID :- 817,

« 2, Option ID :- 818,

« 3, Option ID :- 819,

. 4, Option ID :- 820,

Answer Given:- 3, OptionID ; -819
Question ID:- 206

Which of the following statement(s) is/are correct about manure ?

(a) It is an organic substance obtained from the decompositionof plant or animal wastes
(b} It improves soil texture

() It reduces the water retaming capacity of the soil

Choose the correct answer from the codes given below :

(1) Only (a) and (b) are correct

(2)  Only (a) and (c) are correct
(3)  Only {(a) is correct
(4)  Only (¢) 15 correct

e # =1 H fafated 9 9 6 aud wea wE €2
(a) T T 2Iea] 991 A IIEIA T W U S9 uEy ¥
(b) o8 221 %1 F@2 H GoR 0 ©

(¢) TE A w T g el EwE
(1) (a) 01 (b) 9T &

) (a) (o) TEE

(3)  chdel (a) HEl 2

(4) A (o) HET B

Options:-

.1, Option ID :- 821,

. 2, Option ID :- 822,

. 3, Option ID :- 823,

. 4, Option ID :- 824,
Answer Given:- 2, Option ID : -822

Ninactiamn 1IN 29N7
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Which constituent of petroleum is used for road paving/surfacing ?
(1)  DBitumen

(2) TParatfin wax

(3)  Naphthalene

(4) Coke

T2iferH & FA H HeE B HeE Hew Eenaw 1w faen # fau | wen s g7
(1) =z
(2) e e

(3) =TT
(4) I®
Options:-

.1, Option ID :- 825,

« 2, Option ID :- 826,

« 3, Option ID :- 827,

. 4, Option ID :- 828,

Answer Given:- 4, Option ID : -828
Question ID:- 208

Who among, the following players won the FIFA World Cup 2022 “‘Golden Boot” award 7
(1)  Lionee Messi

(2)  Kvlian Mbappe

)
(3)  Enzo Fernande
(4)

Julian Alvarez

I ded H, 2022 § s o2 sl qreRi fefated § 9 e S ?
(1) fesr oot

(2) e ey

(3) T HAS

(4)  STePA TeEns

Options:-

.1, Option ID :- 829,

« 2, Option ID :- 830,

. 3, Option ID :- 831,

. 4, Option ID :- 832,

Answer Given:- 1, Option ID : -829

Question ID:- 209
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Who among the tollowing authors won the "Sahitva Akademi Yuva Puraskar’, 2022 m Telugu

language 7

(1) Pallipattu Nagaraju
(2)  Siddhardha Kalta

(3)  Narra Praveen Reddy
(4) Nanda Kishore

de] wm H EifEe weReH! a1 TR, 2022 TRE e A S ?

(1) Teddad AFErs
(2) THEE1 =eAa]
(3) T W T
(4) el TR

Options:-

.1, Option ID :- 833,

. 2, Option ID :- 834,

« 3, Option ID :- 835,

« 4, Option ID :- 836,

Answer Given:- 1, Option ID ; -833

Question ID:- 210

Which of the fL‘JH(m-'hlg options correctly represent the aspect ratio ?

(1) Itis the ratio of length of the screen to the height of the screen
(2)  Itis the ratio of height of the screen to the sum of the length and height of the screen
(3) It is a feature that is used to adjust the screen brightness

(4) It is a feature that is used to adjust the screen color composition

famfafaa 5 9 #9 o fawey 90 vee] #1 9et =9 9 i w872

(1) T8 BRA ! TR AN SR i 5= H A9H 2

(2)  TETERA F TAT AR A F AR SN SR & A S
(3) % BhA Hl 204 &l GEETSd F F g B
(4)  HE TR I F9 AT (FER HEMGIE) W TAEEE 2 990 el & |

Options:-

.1, Option ID :- 837,
« 2, Option ID :- 838,
. 3, Option ID :- 839,

. 4, Option ID :- 840,
Answer Given:- 1, Option ID : -837

Subject : RA _Q31-Q35_PGTCOMM

Question ID:- 211
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Choose the correct alternative that will continue the same pattern and replace the question
mark (?), in the given number of series.
305,000, 14, 17, 23, 24, 7

(1) 30
(2) 31
(3) 32
(4) 33

T TE fashen # = w1 S f5u T e gwen 6 T e oS sin uw e oy womm
3,5, 10, 14, 17, 23, 24, 7

(1) 30
(2) 21
(3) 32
(4) 33

Options:-

.1, Option ID :- 841,
« 2, Option ID :- 842,
« 3, Option ID :- 843,
. 4, Option ID :- 844,
Answer Given:- 3, Option ID : -843
Question ID:- 212
Six Iriends Kamla, Tanu, Priya, Deepa, Vimla and Rashmi are sitting on the ground in a hexagy
shape facing towards the centre of the hexagon. Rashmi is not neighbour of Tanu and Vi
Deepa 1s not neighbour of Tanu and Priva. Vimla and Tanu are neighbours. Kamla 15 in
middle of Tanu and Deepa. Deepa is i the left of Rashmi. Who is siting opposite to Kamla
(1)  Deepa
(2)  Kamla
(3)  Priva
(4)  Tanu

pPpetprime.com
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« 3, Option ID :- 847,

. 4, Option ID :- 848,
Answer Given:- 1, Option ID ; -845

Question ID:- 213

[f North becomes South-East, East becomes South-West, South becomes North-West and West
becomes North-East, then what will North-West becomes ?

(1) North
(2) Fkast
(3)  West
(4)  South

ofe 2ae onr sref ‘afequrud’, Cud e wed gl afee el s s e ufyen ) si Cafee
‘I-TA TEEn H § A1 IR-uivE | w wAe ) Ee

(1) ST
(2 wd
(3)  °fv=Ey
(1)  =farm
Options:-

.1, Option ID :- 849,
« 2, Option ID :- 850,
. 3, Option ID :- 851,
. 4, Option ID :- 852,
Answer Given:- 4, Option ID : -852
Question ID:- 214
You are given a question and two statements nunbered [and IT each containing some informat
Decide which of the statements 1s/are sultficient to answer the question ?
Q : Who reached office late among Divya, Fatima, John, Piyvush and Ashish ?
(I} : Divyva and John reached together

(I) : Fatima and Ashish reached together

PpPetprime.co

(1) The statement [ alone 1s sutticient to answer the question while the statement II alone 1s
sulficient to answer the question.

(2)  The statement I alone is sufficient to answer the question while the statement I alone is
sufticient to answer the question.

(3)  Both staterments T and II together are necessary to answer the question.

(

4)  Both statements [ and 11 together are not sufficient to answer the question.




T e T L L e T L N T e T S e A - L R oot TR R RTE AR KT e W00 i A L |

Fifed T 9 |3 F99 999 F SR 24 F ot T 2

i

u:  faen, i, =R, 99 SR i § | wE ST 0 " 1w 2

(1y:  faom sip 9 v Ay 9g |

(I1) : HITTHT ST AT UF e 954 |

(1) sTdel -1 81 99 &1 398 &4 & fau gia & siaie siohel SHea-11 09 &1 3097 o & fon @i T8

2l
(2)  sFohel 211 €l 094 1 IR a4 o fof0 oEie & Sl Aol ®2A-1 999 w1 399 o ok Tey e A
z

(3)  FHA-1 T FHA-I S 9 TReTt W9 & S 5 o T e §

(4) A1 S wLLL = A e oft 99 w1 S 5 o T T TE@ E

Options:-

.1, Option ID :- 853,

« 2, Option ID :- 854,

« 3, Option ID :- 855,

. 4, Option ID :- 856,

Answer Given:- 3, Option ID : -855
Question ID:- 215

In the tollowing figure, circle represents strong men, square represents intellicent men and triam
represents tall men.

Which number represents strong men who are also tall and intelligent ?

pPpetprime.com

() 4
(2) 7
(3) 11

(4) 12




PR A ih =, A MUV 455, AT S e TTE AR s DA TN S A e AT VS SRR e

16 1

13

F 1 T T A AAA! Il 1 SIS o AT SigHE o £

(1) 4
(2) 7
(3) 11
(4) 12
Options:-

.1, Option ID :- 857,
« 2, Option ID :- 858,
« 3, Option ID :- 859,

. 4, Option ID :- 860,
Answer Given:- 1, Option ID ; -857

Subject : CL_Q36-Q40_PGTCOMM

Question ID:- 216

Which of the following devices converts human-understandable mstructions and data into a £
that computers understand and process ?

(1)  DPrinter

(2)  Monitor

(3)  Input devices
(4)  Output devices

- .

=faiEd | | 4 # (ZaEs a9a-99emrg F7 e A7 29 & Uh UH B9 ° qiEdad &l @
P HHY S WIHY kY Heh 7

1) fgex
)

-

HIHE

(3) Ty f=amEH
(4) smeTye feamw

(
(

I

)

Options:-

.1, Option ID :- 861,
« 2, Option ID :- 862,
« 3, Option ID :- 863,
« 4, Option ID :- 864,
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Question ID:- 217

DVD stands for :

(1) Dual Video Disc

(2)  Durable Video Disc
(3)  Digital Versatile Disc
(4)  Discrete Versatile Disc

A

=T A2 (DVD) F A4
(1)  Dual Video Disc

(2} Durable Video Disc
(3)  Digital Versatile Disc
(4)  Discrete Versatile Disc

Options:-

.1, Option ID :- 865,

« 2, Option ID :- 866,

« 3, Option ID :- 867,

. 4, Option ID :- 868,

Answer Given:- 3, Option ID : -867

Question ID:- 218

Which of the following is not an example of popular web based search engines ?

(1) DBing

(2) Ldge
(3) Yahoo
(4)  Google

freafafea 4 #7 W v Ay 99 5797 59 99 #1220 T8 8 7
T4 (Bing)
TS ( Edge)
(3) A ( Yahoo)
(4) T (Google)
Options:-
.1, Option ID :- 869,
. 2, Option ID :- 870,

. 3, Option ID :- 871,

. 4, Option ID :- 872,
Answer Given:- 2, Option ID : -870

Question ID:- 219
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This is a type of malwares that we download onto our smartphones, disguised as usetul apps or

games, but usually take control of our smartphones to damage and steal our data.

(1)  Virus

(2)  Spam

(3)  Trojan
(4)  Phishmg

TE TH W ] HIEETL 8 5 26 AT WERE H UF STERT UY A U5 %k 'Y H SEAAE Fd § g 98

TR THERAE T TS oA €, FAR 22 R F9E L adl § A 39 940 ol £ |

(1)  =HE (Virus)

(2)  FH (Spam)

(3) 2 (Trojan)
(4) Tl (Phishing)

Options:-

.1, Option ID :- 873,

. 2, Option ID :- 874,

« 3, Option ID :- 875,

« 4, Option ID :- 876,

Answer Given:- 4, Option ID ; -876
Question ID:- 220

Which of the tollowing can’t be a valid email id ?
(1)  Anemail id having multiple "@’

(2)  An email id having multiple " (dots)

(3)  An email id having multiple *_" (underscore)

(4)  An emal id having multiple digits (0-9)

faeferfiga ¥ 9 &m o v fafamr= 2-v0a 92 € 2 =@

(1)  Anemail id having multiple "@’
(2} An email id having multiple " (dots)
(3)  An email id having multiple *_" (underscore)

(4)  An email id having multiple digits (0-9)

Options:-

.1, Option ID :- 877,
« 2, Option ID :- 878,
. 3, Option ID :- 879,

. 4, Option ID :- 880,
Answer Given:- 1, Option ID : -877

Subject : UL_Q41-Q55_PGTCOMM

Question ID:- 221
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What is the role of PTA in school ?

(1)  Regular monitoring of student activity

(2)  Act as bridge between school and community
(3)  To sapport school principal

(4)  To guide the children m co-curricular activities

femmemr o sty Toems w9 &l i 2 2

~

(1) Tomme™ & Frma ® g daae

(2)  Taeners e guer & 5o dq 6 i R

—~ -

(3)  Tomem™ & 9rErl w1 HEAr Yed w

(4)  TE-TEEE] FwEERAT T AT ] ATEYA

Options:-

.1, Option ID :- 881,

« 2, Option ID :- 882,

« 3, Option ID :- 883,

. 4, Option ID :- 884,

Answer Given:- 1, Option ID : -881

Question ID:- 222

What 1s the best way to enhance learning ?
(1) by good communication

(2)  through AV Aids

(3)  through activity method

(4)  use ICT tools and digital game based method

At | gy a0 &1 gty alt #0127

(1) S¥F FW0 3k W 9 A

(2)  A=E-799 ITFIU & HIEAH H A9

(3) s dgfa 9 sifaam

(4) #E HI AT AR fEsiea T 397 Tgia 3 A3 6mm
Options:-

.1, Option ID :- 885,

« 2, Option ID :- 886,

. 3, Option ID :- 887,

. 4, Option ID :- 888,
Answer Given:- 4, Option ID : -888

Question ID:- 223
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What 15 the purpose of “assessment of learning’ 7

(1)

To measure amount of learning
To judge the potential of the child in subjects
Provide evidence of learning and gaps to improve

To promote to next class

Cfer & sieheid T R 1 HATA 2 7

(1)
(2)
(3)
(4)

AferTy = 9rLEr TR A

fafv= faoi T &1 w9 & J33 1 [0 o
safepm sT0 Al (79) o1 AT Weqd AT 91l slicis o YU 21 He |

STTEAT S | WTHIE 91 | ( 271 whedl o o7 Wr=ia &)

Options:-

.1, Option ID :- 889,
. 2, Option ID :- 890,
. 3, Option ID :- 891,

. 4, Option ID :- 892,
Answer Given:- 1, Option ID : -889

Question ID:- 224

What 1s the significange of CCE in classroom ?

(1
(2)
(3
4

The children will be evaluated in scholastic subjects
Evaluation covers all parametres to measure personality development
Evaluation of scholastic and co-scholastic areas

Examination are flexible

a7 H HAa AN A qediEA (H H 2 ) @ # HEE 8

(1)
(2)
(3)
(4)

AT o AP & A0 F e 26 |

qeidhA T FATaded (g & A9 Aas T A58 900 7 |
AT 3TN U~ =95 441 bl Yofihd
BRI CEEEE

Options:-

.1, Option ID :- 893,
. 2, Option ID :- 894,
« 3, Option ID :- 895,

. 4, Option ID :- 896,
Answer Given:- 3, Option ID ; -895

Question ID:- 225
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Which one of the tollowing is visual mstrumental material ?

(1)  Text books
(2) Charts

(3)  Calculators
(4)  Black Board

-

frmferfa 5 | 7 gvmm At (wen) | E 7
(l) ST b Rt i
() =-

(3)  HeThe

(4) v

Options:-

.1, Option ID :- 897,

« 2, Option ID :- 898,

« 3, Option ID :- 899,

« 4, Option ID :- 900,

Answer Given:- 3, Option ID : -899

Question ID:- 226

What do yvou mean by experimental learning ?
(1)  Writing new information

(2)  Learning by doing

)
(3)  Act of memorizing
(4)

Frequent drilling

v saferm & g #1 qeTd B2
VEER: CEiRel

(2)  FEEIU S AEH W OATHH
(3) I A T R

(4) FRAT 37

Options:-

.1, Option ID :- 901,

« 2, Option ID :- 902,

. 3, Option ID :- 903,

. 4, Option ID :- 904,

Answer Given:- 2, Option ID : -902

Question ID:- 227
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Which one of the following tactor attects learning ?
(1)  Teacher’s personality

(2)  Principal’s dynamism

(3} School ambience

(4)  Peer pressure

fa=ifernd § 9 Toga w1ty gunfag gar 2 7

(1)  A=AT9F =1 Al
(2)  wrEr el Al

(3) Tomer @ afEw (o)

(4) HEFEEE T

Options:-

.1, Option ID :- 905,

« 2, Option ID :- 906,

« 3, Option ID :- 907,

« 4, Option ID :- 908,

Answer Given:- 1, Option ID : -905

Question ID:- 228

The following would form better learning space in school :

(1) Class room

(2) Library

(3)  Digital Lab
)

(:4 Spl,lr ts Field

famifend 4 fazera § =gas wAfgry aficw w1 geiq 2 -
(1) =T

(2) =T

(3) Tesie wig

(4) = F AEA

Options:-

.1, Option ID :- 909,

« 2, Option ID :- 910,

. 3, Option ID :- 911,

. 4, Option ID :- 912,

Answer Given:- 1, Option ID : -909

Question ID:- 229
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Cognitive leaming is :

—

|d

(
(2)
(3)
(4)

Active style of motor muscles
Reflection of emotional feelings
Maximizing Brain's achivity

Enhancine internet in subject
() ]

(1)
(2)
(3)
(4)

Hefd foE] (Hed HHeH ) okl G el
IEIUED ﬂm,'jﬁaqgﬁﬁaﬁ o

HiETSh & HTEeha[d %] Hfadn =1 dd d92M
faos | Wafad 22ie Haee

Options:-

.1, Option ID :- 913,
. 2, Option ID :- 914,
« 3, Option ID :- 915,

« 4, Option ID :- 916,
Answer Given:- 3, OptionID ; -915

Question ID:- 230

Why school 1s a miniature society ?

(1)
2)
(3)
4

It is a group ot diversitied people.
Particular group of humanity with shared customs.
The students represents cross section of society.

Hetrogenous group of students.

oo

Thel FE BIEf TR § Y

(1)
(2)
(3)
(4)

T T W STHET T R AT wE
Taenedl st & fafas a7l =1 afaf=iae #ad €1

Options:-
.1, Option ID :- 917,

« 2, Option ID :- 918,

« 3, Option ID :- 919,

. 4, Option ID :- 920,
Answer Given:- 3, Option ID : -919

Question ID:- 231
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The qualitative change in personality of child refers to :
(1)  Growth

(2) Invisible change

(3)  Maturation

(4)  Visible Change

AAF, & Fdded H [0TeH qiad= &1 aedsd F=ited 5 3 e 27
(1) ferrme

(2) ¥ e

(3) e

(4)  =9AAA giiEda

Options:-

.1, Option ID :- 921,

« 2, Option ID :- 922,

« 3, Option ID :- 923,

« 4, Option ID :- 924,

Answer Given:- 3, Option ID ; -923

Question ID:- 232

What is the role of development in child psychology ?

[y -
¢ coals.

(1) It helps in fixin
(2) It determunes readiness for learning.
(3) Tt determines behavior.

(4) It focuses on memory.

Aled WAl 1 fashry &0 ) 3foesr 27
(1) 59 @ frarm o s e 2

(2) W ﬁw ﬁ_g Ir;g‘j P IR ] 'ﬁiﬂﬁc‘i 'f:|‘,'|"| %l
(3) 399 egaen fulfd dan g
(4) =R A W E o s R

Options:-

.1, Option ID :- 925,

« 2, Option ID :- 926,

. 3, Option ID :- 927,

. 4, Option ID :- 928,

Answer Given:- 3, Option ID : -927

Question ID:- 233
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The socio-emotional learning is the process ot
(1) Self-discipline

(2)  Development of linguistic ability

(3)  Self development

(4)  Developing self-control

TSR - Aty faeifea o o fopaa g 27
(1) oTcH- 3 gemaA

(2) TSl Ha faesrE

(3)  #rea-Tamm

(4)  FTen-T9EEm TaehRid ]

Options:-

.1, Option ID :- 929,

« 2, Option ID :- 930,

« 3, Option ID :- 931,

« 4, Option ID :- 932,

Answer Given:- 2, Option ID : -930

Question ID:- 234

Which psychological factor helps learning ?

(1)  Age

(2)  Sleep
(3)  Motivation
(4) Internet

F T TAEAAF FF T o TEEE 8 Y
(1y =17
(2) ™=

(3)  sfaum
(4) FETE
Options:-

.1, Option ID :- 933,
« 2, Option ID :- 934,
. 3, Option ID :- 935,
. 4, Option ID :- 936,
Answer Given:- 3, Option ID : -935

Question ID:- 235
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Regular meeting of parents and social workers in school would ensure :
(1)  Home school continuity.

(2)  Proper understanding of the teachers.

(3)  Reducing communication gap between students and teachers,

(4)  Co-operation to enhance school resources.

o o wAfua@Esi AR s Fwas #1 g 92+ 9 @0 gt gm 22

(1) 7T =1 waead |
(2)  2A=AT9eh] i 3T=d 99 |
(3)  Taenfela &3 stemmaeRi o W1 WUUW STRRTE Wl R T |

(4) Toeer =1 HOA FEH H el
Options:-
.1, Option ID :- 937,
« 2, Option ID :- 938,
« 3, Option ID :- 939,

« 4, Option ID :- 940,
Answer Given:- 1, Option ID ; -937

Subject : UTL_Q56-Q70_PGTCOMM
Question ID:- 236

Do the ICT tools in classroom threaten the teacher’s role ?
(1)  Notatall, if teacher is updated in ICT skills.

(2)  Yes, certainly it poses threat.

(3) Makes no ditfterence tor teachers.

(4)  Teacher can use traditional methods of teaching,

I AT H = T SER Gl o Sue) S BH d sArdel o6l o i w

(2) & gud fAfvad w9 0 AemE &) A dn 2
(3)  THE FATTR] W BT TAE TE AT

(4)  AFTHR TAT I RO FEE T S9EE W T 2

Options:-

.1, Option ID :- 941,

« 2, Option ID :- 942,

. 3, Option ID :- 943,

. 4, Option ID :- 944,

Answer Given:- 1, Option ID : -941

Onection ID:- 227

Fo b

odl e 7
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How students” feedback on teaching would help the teachers ?
(1) It would certainly refine quality of teaching,.

(2} Students would be biased.

(3)  Teachers does not require feedback from the children.

by ave gative 1 AUl achine.
4) It may have negative impact on teaching

FEATT <F 91 o faanie=i 9 urd wizds da94 & fau f5 g5 920 2 ?

(1) 399 ffe=m d8 W 3 i e giegd 30
(2)  Taenddf gammE =i

(3)  STATTRT I ATeTehi W HIEsih ol @i STawTHAl el JEdl 2 |

(4)  FHE AT W ARLHE BE T TR 2 |

Options:-

.1, Option ID :- 945,
. 2, Option ID :- 946,
« 3, Option ID :- 947,

. 4, Option ID :- 948,
Answer Given:- 1, Option ID ; -945

Question ID:- 238

What 1s major challenge in ICT applications in classroom in rural sector ?
(1)  Lack of furniture in lab

(2} Lack of tramed teachers

(3)  Lack of power and internet

(4)  Lack of motivation

e afs ekl H I SAUAN bl g Al @ 27
(1) AT H FAEL D AE
(2)  WIEITe-STATIE & ]

(4)  #ANTERD T AIE

Options:-

.1, Option ID :- 949,
« 2, Option ID :- 950,
« 3, Option ID :- 951,

. 4, Option ID :- 952,
Answer Given:- 3, Option ID ; -951
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What 1s the role of [esson plan in classroom ?
(1)  Meets the administrative requirement
(2}  The teachers cannot deviate schedule

(3) It helps achieving learning outcomes

(4) It assists the teachers to evaluate the learner

FET] W U IS F I ] T T 2
(2) e At drEge (srEEn) | Tatew = T
(

) FHH AR T 9T & H HerEdl fHedt #1

(4)  THA s ) sfTsRdl sl oedia Hid O derd fHed) B
Options:-

.1, Option ID :- 953,

« 2, Option ID :- 954,

« 3, Option ID :- 955,

. 4, Option ID :- 956,
Answer Given:- 3, Option ID : -955

Question ID:- 240

A student feeds dogs mn school during recess period, comes under :
(1) Designed curriculum

(2)  Moral education

(3)  Hidden curriculum

(4)  Owvert curriculum

ferneil weaiay srereprer (g difzz) § #d & fgar g =g Feifed 3 9 feas 4o F s 87
(1) @frsioaa 93wy

(2)  Afaw fore

(3)  Tow 2= (U=s—) T

(4) fage WA

Options:-

.1, Option ID :- 957,
« 2, Option ID :- 958,
« 3, Option ID :- 959,

« 4, Option ID :- 960,
Answer Given:- 3, Option ID ; -959
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The famous example of classical conditioning of Ivan pavlov on dog refers to
(1) Connectivism

(2}  Behaviorism

(3)  Cognitivism

(4)  Construchivism

ZdH UieAd g1 Yo WL T 71 Fenfyent (o) sda # 9ihg 3er 2

(1) Hawe
(2) IR

(3) HATHCHRAE

(4) TEIAR

Options:-

.1, Option ID :- 961,
« 2, Option ID :- 962,
« 3, Option ID :- 963,

. 4, Option ID :- 964,
Answer Given:- 2, Option ID ; -962

Question ID:- 242

What is the basic principle of constructivism ?
(1) Knowledge is built on existing knowledge
(2)  Social learning

(3)  Contextual learning

(4)  Motivational learning

famifea o 9 =EE #1 ged fogia #0272
(1) = = ) e 3 WA
(2)  Taemem o ey
(3)  Hesla sl
(4) ANTEIEER AT
Options:-
.1, Option ID :- 965,
. 2, Option ID :- 966,

. 3, Option ID :- 967,

. 4, Option ID :- 968,
Answer Given:- 1, Option ID : -965
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The annual mstructional plan would ensure -
(1)  Effectve classroom transaction

(2}  Wholesome teaching

(3)  Accomplishment of learning outcomes

(4)  Preparation of unmt plans effectively

Affidan forar e A freifea § 4 @ gfafesa €m 2
(]) ER 51r ?-EP{-H Hc_ﬂﬂnl

(2)  TEdsnl A

(3) e fooms = wifE

(4) A @R % q9E 20 9AE A
Options:-
.1, Option ID :- 969,
« 2, Option ID :- 970,

« 3, Option ID :- 971,

. 4, Option ID :- 972,
Answer Given:- 4, Option ID ; -972

Question ID:- 244

(1) Annual plan
(2)  Unit plan
(3)  Lesson plan

(4)  Audio visual Aids

faeaifeara d 4 @ sqonfaa sifa aftomg ure s &1 |3eE 2
(1) =t =S

(2) Al <

(3) IS ATt

(4) 4= 39T TTHRIW

Options:-

.1, Option ID :- 973,
. 2, Option ID :- 974,
. 3, Option ID :- 975,

. 4, Option ID :- 976,
Answer Given:- 3, Option ID : -975

The fL'JHm-\‘]'ng 15 the tool to achieve intended learning outcomes :
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The diagnistic assessment aims at ;

(1)  finding out the strength of the child.
(2) remediating learning.

(3} knowmg level of learning.

(4)  measuring emotions of the child.

:ia ;-Ir'F' qrf:rz;i-r‘ﬁu-l a?[ 3:':_:3-’] % M
(1)  =eT = Tl T8 F T S

(2)  ATTH H A BEEAT R FEE WA B
(3) AT =T =S

(4) =R ] WEAIST ] H9A

Options:-

.1, Option ID :- 977,
« 2, Option ID :- 978,
« 3, Option ID :- 979,

« 4, Option ID :- 980,
Answer Given:- 2, Option ID ; -978

Question ID:- 246

The open style of questions in exam would test :
(1)  Rote memory

(2)  Applied aspects

(3)  Critical thinking

(4)  Scientitic temper

ltent H qeAl il ged Sedl Fitea § A fagan adtao gm 7

(1) 2% Flh A8 F

(2) &F9gE 9
(3) slelrEATeEE e
(4) AFTE gFE (FEw)

Options:-

.1, Option ID :- 981,
« 2, Option ID :- 982,
. 3, Option ID :- 983,

. 4, Option ID :- 984,
Answer Given:- 3, Option ID : -983
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The main aim of classroom observation 1s :

(1) to get teedback on teachers from students.
(2)  to get mirospection by teachers.

) 2 S LI : i L -

(3)  to fultil administrative requirements.

(4)  toassess teachers ability,

el YW ( SATAFRA ) F O T2IT E

(1)  Temnfel | A=Al o a1l W Rigesh (e ) I &

(2) sl GRS Al ]

(3)  HIERTFR TS R Y AT
(4)  FEATIE] F AT F oA

Options:-

.1, Option ID :- 985,
« 2, Option ID :- 986,
« 3, Option ID :- 987,

« 4, Option ID :- 988,
Answer Given:- 1, Option ID ; -985

Question ID:- 248

Collaborative group work is an example of
(1) Divergent thinking

(2)  Activity based learning

(3)  Constructive Learning

(4)  Cognitive learning

efrarge Ardfes wr FHefed § 9 T e 20
(1) Afasy =

(2)  FHFE G AR
(3)  TEAIHE wTfET

(4)  HIATHF AfETH

Options:-

.1, Option ID :- 989,
« 2, Option ID :- 990,
. 3, Option ID :- 991,

. 4, Option ID :- 992,
Answer Given:- 1, Option ID : -989
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The practical experience of the child would enhance :
(1) Learning

(2)  Thinking

(3)  Feeling

(4)  Interest

AeAF & UrEfTF Aqud 9 foeifed § 9 feaa efugfg 2 ?

(1) =faTs
(2) T
(3) 144

(4)  AfEf=

Options:-

.1, Option ID :- 993,
« 2, Option ID :- 994,
« 3, Option ID :- 995,

. 4, Option ID :- 996,
Answer Given:- 2, Option ID : -994

Question ID:- 250

What is inclusive education ?

(1)  Special education fer disabled

(2)  Bducation to all the children irrespective of sex, caste, creed and disability
(3 Women education

(4) Integrated educabion

A

el s = 2 7

(1y fe=min 57 % fom faom fosn

(2 fem, A, we s o oEad #1 =9 Tl T |el e % e e
(3) wieensi wi faa

(4)  TehTRA o

Options:-

.1, Option ID :- 997,
. 2, Option ID :- 998,
. 3, Option ID :- 999,

. 4, Option ID :- 1000,
Answer Given:- 2, Option ID : -998
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Question ID:- 251

Dvslexia reters to :

(1) Inabiity to write
(2)  Inability to learn
(3)  Inability to speak
(4)  Inabality to see

(1) = sarm
(2) o ST
(3) = SEEd
(4) g =g

Options:-

.1, Option ID :- 1001,

. 2, Option ID :- 1002,

. 3, Option ID :- 1003,

. 4, Option ID :- 1004,

Answer Given:- 2, Option ID : -1002
Question ID:- 252

What is the major challenge in society dealing with stubborn children with restlessness ?
(1)  Non-cooperation of parents

(2)  Detective curriculum

(3)  Lack of professional counsellors

(4)  Inefficient teachers

A= 22l dlelshl o HeddeR i H a2l Fdidl fmilend o & @0 27

(1) wfsmaesl | weam 28 fmer

pPpetprime.com

(2) =g g
(3) e R # e
(4) AT EATTER

Options:-

.1, Option ID :- 1005,

. 2, Option ID :- 1006,

. 3, Option ID :- 1007,

. 4, Option ID :- 1008,

Answer Given:- 1, Option ID : -1005

Question ID:- 253




Low vision ot child comes under :
(1)  Intellectual Disability

(2) TPhyswcal Deformity

(3)  Mental Disability

(4)  Sensory Disability

A F1 e g TEntHa | A 5 g H oA w2
(l) ﬂh‘ 11'":“ (il-taq .]EE!

Fasd P o~
(2)  TIRITI=R TR

.
[

(3)  HEAMEE fesmE
(4) Hadl fasrim

Options:-

.1, Option ID :- 1009,

. 2, Option ID :- 1010,

. 3, Option ID :- 1011,

. 4, Option ID :- 1012,

Answer Given:- 4, Option ID : -1012

Question ID:- 254

‘Mood swinging” ot the child ndicates :

(1) Low socialisation
(2)  physwal ailment
(3)  Mental health 1ssue
(4) LCmotonal issue

A &1 T H weEibad aitgds’ fasifed d 9 fag fefud s €72
(1) =7 AERTH

(2)  WIRIE S

(3)  HHTHH w612 6l e

(4)  TETEIER T

Options:-

.1, Option ID :- 1013,

. 2, Option ID :- 1014,

. 3, Option ID :- 1015,

. 4, Option ID :- 1016,

Answer Given:- 3, Option ID : -1015

Question ID:- 255
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Which tvpe of leadership is suited to teachers improvement ?
(1)  Instructional leadership

(2)  Administrative leadership

(3)  Bureaucratic leadership

(4)  Management leadership

T

AL o e & ol il § 3 f@m gwn &1 g9 S7gH 27

(1)  #TEvTaF T

(2) WIS Age

(3)  ATREIET g

(4) T T

Options:-

.1, Option ID :- 1017,

. 2, Option ID :- 1018,

. 3, Option ID :- 1019,

. 4, Option ID :- 1020,

Answer Given:- 1, Option ID ;: -1017

Question ID:- 256

The quality of great school leader should be :
(1)  Integrity

(2)  Honesty

(3)  Critical thinking

(4) Punctuality

e kel Jdl H i 5 i =g g =ie ?
(1)

i

(2)  EHAR

(3)  EHIETEoE T
(4 TER

Options:-

.1, Option ID :- 1021,
. 2, Option ID :- 1022,
. 3, Option ID :- 1023,
. 4, Option ID :- 1024,
Answer Given:- 3, Option ID : -1023

Question ID:- 257
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What should be the important principle of school organisation ?
(1)  Democratic principle

(2)  Principle of Hexibility

(3)  Child centered principle

(4)  Teacher centered principle

T3 HE4 1 Haeaqn fagia a1 21 =fzu 7
(1) SAaiE e
(2)  @=ed #1 [

il

(3) =Tk Himd Hgi

~ &

(4)  FATTF Hi=a TF]

Options:-

.1, Option ID :- 1025,

. 2, Option ID :- 1026,

. 3, Option ID :- 1027,

. 4, Option ID :- 1028,

Answer Given:- 3, Option ID : -1027

Question ID:- 258

Organisation of social service league by school helps
(1)  Bringing community closer to school

(2)  Auegmentation of school resources

(3)  Maintaining cordial relationship with society

(4)  Children to develop social values

ehod gl Hi9tel iy w7 &1 AP T 5H & ety feifaa § 9 feay gepa et €7

(1) =™ 1 fommery & $i1 51 | o

(2y  Temmer™ = HHeA] A1 HaE
(3) | H ey Hed e v 1

(4)  FETRI H A Hom TEeniEd

Options:-

.1, Option ID :- 1029,

. 2, Option ID :- 1030,

. 3, Option ID :- 1031,

. 4, Option ID :- 1032,

Answer Given:- 4, Option ID ; -1032

Question ID:- 259
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Which committee/commission recommended universalisation ot tree education tor age group

o-14 vears 7

(1)  Kothart commission

[

) Sadler committee

3

(3)  Sargent committee
(

4)  Hartog committee

— .

freAfeRa o o fore Aafa @ = 6 9 14 76 @9 o et o ol (9.9 1919 o JeE =i &1 A

FI o 2

(1)  RIBET S
(2)  Heel HfEfA
(3) Tz THE
(4) 2l HiEfd
Options:-

.1, Option ID :- 1033,
. 2, Option ID :- 1034,
. 3, Option ID :- 1035,
. 4, Option ID :- 1036,
Answer Given:- 1, Option ID : -1033

Question ID:- 260

The revised pattern of school education is :

(1) 8+2+2+3
{2) 5+3+3+4

O+2+43

cepedl Tordl ol selifad ufasy (Ge4) 2 -

(1)  8+2+2+3
(2) 54+34+3+4
(3) 10+2+3
(4)  5+5+3+2

Options:-

.1, Option ID :- 1037,
. 2, Option ID :- 1038,
. 3, Option ID :- 1039,

. 4, Option ID :- 1040,
Answer Given:- 2, Option ID : -1038

Subject : COM_Q81-Q180_PGTCOMM

Question ID:- 261
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Which ot the following is the measure ot success of a business enterprise ?
(1)  Creation of Customers

(2)  Sales of Products

(3)  Growth Rate

(4)  Price of the Products

T AFHIEE 29T B ABAd F AE A H W EEw g ?

(1) TMEh-¥
(2) ZoEl & TaEE
(3) Tl =

{4) 3 ':': “hl HcA

Options:-

.1, Option ID :- 1041,

. 2, Option ID :- 1042,

. 3, Option ID :- 1043,

. 4, Option ID :- 1044,

Answer Given:- 3, Option ID : -1043
Question ID:- 262

Banking relates to

(1)  Government sector
(2)  Service sector

(3)  Primary sector

(4)  Secondary sector

TR ] Hear e & -
(1) TR &3
(2) HAEEH
(3) WAEE aEH
(4) Tgdme am A
Options:-
.1, Option ID :- 1045,
. 2, Option ID :- 1046,

- 3, Option ID :- 1047,

. 4, Option ID :- 1048,
Answer Given:- 2, Option ID : -1046

Question ID:- 263
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Which among the following contributes maximum to the GDIP 7

(1)  Primary sector
(2)  Secondary sector
(3)  Service sector

(4)  Food processmg

frAfdfad 0 4 &1 e =ie] 3cqe o sifshRan A0TeH #d) © 2

(1) e &3
(2) Tfzarms a3
(3) HET A

(4) T THER

Options:-

.1, Option ID :- 1049,

. 2, Option ID :- 1050,

. 3, Option ID :- 1051,

. 4, Option ID :- 1052,

Answer Given:- 3, Option ID : -1051
Question ID:- 264

Match the following :

(i)  Removing hindrance of knowledge ()
(i)  Removing hindrance of time (1)
iﬁ) Removing hindrance of place (<)
(iv)  Removing hindrance of risk ()
(1) (1)-(a) (1)-(d); (1)-(b); (1v)(c)

(2)  (i)-(c); (iD)-(d); (iii)-(b); (iv)-(a)

(3} (1)-tay (1)-(b); (i)-(d); (1v)-(C)

(4)  (1)-(0); (n)-(b); (m)-(d); (iv)-(a)

(i)  FF T EE R (a) Te=mTs
(if)  HHA T S B & (by dfiazA
(iii) T I A FAT E (¢) =

(iv) STEH &1 =TT 2 © (d) =R
(1) (D)-a) (w)-(d): (a)-(b); (1v)-{c)

(2)  ()-(c); (m)-(d); (1i)-(b); (v)-(a)

(3)  (i)-(a); (i)-(b); (iii)-(d); (iv)-{c)

(4)  (1)-(C); (u)-(b); (ui)-(d); (v)-(a)

- s

Advertising
Transport
Insurance

Warehousing
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e Bl i

. 2, Option ID :- 1054,

. 3, Option ID :- 1055,

. 4, Option ID :- 1056,

Answer Given:- 1, Option ID : -1053
Question ID:- 265

The liability of ‘karta” in Joint Hindu family business 1s
(1)  Notarise

(2) Unlimited

(3)  Joint

(4)  Limited

Hyad fag qftan 3 &dl 1 e |
(1) Se9=1 =@ 2l
BRECUCCEIRIR
(3) HEH EEE
) Hifod Ea g

Options:-

.1, Option ID :- 1057,

. 2, Option ID :- 1058,

. 3, Option ID :- 1059,

. 4, Option ID :- 1060,

Answer Given:- 2, Option ID : -1058

Question ID:- 266

Which of the fﬂﬂij‘wil‘[g prindpi@ is tollowed i1 a L‘n-npm‘aﬁve HOL‘iEl'_\-’ 2
(1)  Novote

(2)  One man one vote

(3) I\%"Illll'iplti virtes

(4)  One share one vote

frefefigd § 9 = a1 g uh genil |@fufq grn st s ?
(1) =2 =l A

(2) T AR TH =R

(3) TF H = AR

(4) T ST TE A

Options:-

.1, Option ID :- 1061,
. 2, Option ID :- 1062,
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bl Bl e )

. 4, Option ID :- 1064,
Answer Given:- 2, Option ID : -1062

Question ID:- 267

Objectives of the company are mentioned in its
(1)  Certiticate of Incorporation

(2} Memorandum of Association

(3)  Certiticate of Commencement of Business

(4)  Articles of Association

AT % T F] Joeid A1 8, S

(1) HHMEA JHw 93 J

(2) 9mE = A

(3) HHAHE YR S & T8 H
l:_j:) r‘.. o Fr : ﬁ

Options:-

.1, Option ID :- 1065,

. 2, Option ID :- 1066,

. 3, Option ID :- 1067,

. 4, Option ID :- 1068,

Answer Given:- 2, Option ID : -1066
Question ID:- 268

Which one of the tollowing has a big
(1)  Banking

(2}  Insurance

(3)  Trade

(4)  Commerce

ger tunction

(%

TrAfefad | | fode Raers o 921 ¢ 2
1y
(2)  EH

(3) AR
(4) =
Options:-

.1, Option ID :- 1069,
. 2, Option ID :- 1070,
. 3, Option ID :- 1071,
. 4, Option ID :- 1072,

al scope ?
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Question ID:- 269

Directors of a public company are elected by
(1)  Government

(2}  Shareholders

(3)  Debentureholders

(4)  Public

(1) HTRE BN

(2)  FAwETE g

(3) BT g

(4) A
Options:-

.1, Option ID :- 1073,

. 2, Option ID :- 1074,

. 3, Option ID :- 1075,

. 4, Option ID :- 1076,

Answer Given:- 1, Option ID : -1073
Question ID:- 270

[n a Government Company, what minimum portion of the paid up capital must be held by
Government ?

(ny  75%
(2)  25%
(3) 51%
4)  50%

T AR T T gE Tl 1 S A 96 9ORR gR SAEr w9 | i R s e
(1) 75%

(2)  25%

pPpetprime.com

3}y 51%
(1) 50%
Options:-

.1, Option ID :- 1077,
. 2, Option ID :- 1078,
. 3, Option ID :- 1079,
. 4, Option ID :- 1080,
Answer Given:- 3, Option ID : -1079

Question ID:- 271




“One man’s control 1s the best i the world.” Who gave this statement ?
(1) W Tavlor

(2) Henry Fayal

(3)  L.H. Hanney

(4)  W.R. Basset

ek Al &1 FEE, {99 H F@9i69 € T wuA (B foq e ?

(1) THEZF Jon
(2) F AT
(3) TELUE

(4) ==PLAN. FHA

Options:-

.1, Option ID :- 1081,

. 2, Option ID :- 1082,

. 3, Option ID :- 1083,

. 4, Option ID :- 1084,

Answer Given:- 4, Option ID : -1084

Question ID:- 272

What should be the minimum number of members v a private company ?

(1) 5

(2) 7
(3) 10
(4) 2

TF S HIA E HEE ) SAaE JET F gH 9en 2

(1y >
2y 7
(3) 10
(4) 2
Options:-

.1, Option ID :- 1085,
. 2, Option ID :- 1086,
. 3, Option ID :- 1087,
. 4, Option ID :- 1088,
Answer Given:- 4, Option ID : -1088

Question ID:- 273
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Which of the fnlh‘;whg 15 the oldest torm of organising public sector enterprises ?
(1)  Statutory Corporation

(2)  Co-operative Socielios

(3)  Government Company

(4)  Departinental Undertaking

TS 25 & SUs] ] =T O 1 gEHaY ey A Y W &9 8 7

(1) wfafrs s

(2) TEENl At

(3) TR FHA

(4)  TaymieT gaEs
Options:-

.1, Option ID :- 1089,
. 2, Option ID :- 1090,
. 3, Option ID :- 1091,
. 4, Option ID :- 1092,
Answer Given:- 4, Option ID : -1092

Question ID:- 274

Match the following :

Name of Bank Year of Inception
(1)  ICICI Bank Ltd. (a) 1955
(if)  Axis Bank Ltd. (b) = 1894
(i) TPunjab Natonal Bank (€) ..2009
(iv) State Bank of India (d) 1994
(1) fi)-l'd)' (ii)-(a); (111)-(b); (1v)-(¢)
(2) (-t (1)-(b); IH) -(c); (iv)-(d)
(3) (1) (ch; (11]' (b‘b -(d); (1v)-(a)
(4) () ()-(e) (") (iv)-(a)
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LN R LD LA L I D N RO B B B

eh T ATH

(i) ufed s fofHee
(iii) HSTE TIEA EF
(iv) R =22 &

(1) (-d); (i)-(a); (iz)-(b); (1v)-(c)
(2)  ()-(a); (i)-(b); (1i1)-(c)

(3)  (D)-(c); (21)-(b); (mi)-(d)

(4)  (1)-(d); ()-(c); )
Options:-

.1, Option ID :- 1093,
. 2, Option ID :- 1094,
. 3, Option ID :- 1095,
. 4, Option ID :- 1096,
Answer Given:- 4, Option ID : -1096

Question ID:- 275

The principle of subrogation does not apply to

(1) Lite Insurance
(2)  Marine Insurance
(3)  TFire Insurance
(4)  General Insurance

T TIEid @ e e

(1) <= S

(2) HEE A A

(3) A =

(4) = HEH
Options:-

.1, Option ID :- 1097,
. 2, Option ID :- 1098,
. 3, Option ID :- 1099,
. 4, Option ID :- 1100,
Answer Given:- 2, Option ID : -1098

Question ID:- 276

FTOAT =R =
1955
1894
2009
1994
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In which tvpe of "bank Account, the deposit i excess of a particular hnut, automatically gets
converted mto fixed deposit 7

(1) Tixed Deposit Account

(2} Term Deposit Account

(3)  Recurring Deposit Account

(4)  Multi option Deposit Account

TRl YohTe % oo w@ld H, Ueh forrg w0 # sifaen oo, sad; sard o o qivefda € sl & 2
(1) T8 S @l
(2)  HEE S
(3)  =Edl STH] =

—

(4)  SEfIFdl SH A

Options:-

.1, Option ID :- 1101,

. 2, Option ID :- 1102,

. 3, Option ID :- 1103,

. 4, Option ID :- 1104,

Answer Given:- 4, Option ID ;: -1104

Question ID:- 277

Which of the following is not included in General Insurance ?
(1) Fire Insurance

(2)  Marine Insurance

(3)  Fidelity Insurance

(4)  Life Insurance

e O 4 T Wy "y & A afmted w2 e sEr ?
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(1) =104 =
2y H Hal =i
(3)  fr=r s
(4) SR =T
Options:-

.1, Option ID :- 1105,
. 2, Option ID :- 1106,
. 3, Option ID :- 1107,
. 4, Option ID :- 1108,
Answer Given:- 4, Option ID : -1108

Question ID:- 278




Bill of Lading is issued by :
(1)  Shipping company
(2) Captain of the ship
(3)  Custom officer

(4)  Agent of the exporter

(1) 7RISt &l g

(2) TR % FEE G

(3) wEH HATEE G

4y Frras & wfatts gm
Options:-

.1, Option ID :- 1109,
. 2, Option ID :- 1110,
. 3, Option ID :- 1111,
. 4, Option ID :- 1112,
Answer Given:- 1, Option ID : -1109

Question ID:- 279

(1) July 1944
(2)  June 1946
(3)  June 1930
(4)  August 1950

fa9d =% 1 A9 qEe Any T
(1) T 1944 H
(2) =1 1946 H
(3) I 1950 H
(4) T 1950 H
Options:-
.1, Option ID :- 1113,
. 2, Option ID :- 1114,
. 3, Option ID :- 1115,
. 4, Option ID :- 1116,
Answer Given:- 2, Option ID : -1114

Question ID:- 280

The World Bank started its operation in :
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Which of the tollowing is not regulated by the "‘Competition Act. 2002" ?
(1)  Predatory Pricing

(2)  Abuse of Dominant Position

(3)  Medical Negligence

(4)  Anb-Competiive Agreement

‘gfergl st 2002 % 29 T E |1 e a2 e s 2

(1) =1Hal Hedd
(2) W ferfa = sT=Ea =EEn

(3) TR arEE

(4)  AfaEmgRiEl qHEid

Options:-

.1, Option ID :- 1117,

. 2, Option ID :- 1118,

. 3, Option ID :- 1119,

. 4, Option ID :- 1120,

Answer Given:- 3, OptionID : -1119

Question ID:- 281

Who are the primary risk bearers of the company /
(1)  Equity shareholders

(2) Preference shareholders

(3)  Creditors

(4)  Debentureholders

FH & wuiE iiEy ggaEd] F9 2 § 2
(1) HHd1 ST

(2) HEITEERET SUER

(3) TR

(4) I

Options:-

.1, Option ID :- 1121,

. 2, Option ID :- 1122,

. 3, Option ID :- 1123,

. 4, Option ID :- 1124,
Answer Given:- 1, Option ID : -1121

Question ID:- 282
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Which source of tinance provides benefit in tax ?
(1)  Debentures

(2)  Prefterence Shares

(3)  Retamed Larnings

(4)  Equity Shares

e &1 FF-91 ®id S AT S FOd § 7
(1) =TT

(2)  TETEERT S

(3) = e

(4)  HHAT HI

Options:-

.1, Option ID :- 1125,

. 2, Option ID :- 1126,

. 3, Option ID :- 1127,

. 4, Option ID :- 1128,

Answer Given:- 1, Option ID : -1125
Question ID:- 283

Trade credit is provided by
(1)  Commercial Bank

(2} Suppher

(3) Buyer

(4)  Development Bank

=T SR TS A 5 R
(3) FAEM
(4) fahId =i gHI

Options:-

.1, Option ID :- 1129,

. 2, Option ID :- 1130,

. 3, Option ID :- 1131,

. 4, Option ID :- 1132,

Answer Given:- 1, Option ID : -1129

Question ID:- 284
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Unit Trust of India became operational in the year :
(1) 1960

(2) 1964
(3) 1968
(1) 1972

A 42 202 fod ad 4§ e gsn, & @
(1) 1960

(2) 1964
(3) 1968
(4) 1972

Options:-

.1, Option ID :- 1133,
. 2, Option ID :- 1134,
. 3, Option ID :- 1135,
. 4, Option ID :- 1136,
Answer Given:- 2, Option ID : -1134

Question ID:- 285

Environment Protection Act was enacted in the year
(1) 1985
(2) 1986
(3 1987
(4) 1988

AT HEE AT AN g |
(1) 19851
(2) 1986 H

(3) 1987 H
(4) 1988 H

Options:-

.1, Option ID :- 1137,

. 2, Option ID :- 1138,

. 3, Option ID :- 1139,

. 4, Option ID :- 1140,

Answer Given:- 1, Option ID : -1137

Question ID:- 286
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What are the minimum number’ ot members required to form a co-operative society ?

(1) 2

(2) 7
(3) 10
(4) 20

(1y 2
2y 7
(3) 10
(4) 20

Options:-

.1, Option ID :- 1141,
. 2, Option ID :- 1142,
. 3, Option ID :- 1143,
. 4, Option ID :- 1144,
Answer Given:- 3, Option ID : -1143

Question ID:- 287

“"Management is the art of knowing what vou want to do and then seeing that it is done in the
and the cheapest wav.”

This definition of Management was given by :

(1)  F.W. Taylor

(2)  L.H. Hanney

(3)  Oliver Sheldon

(4)  Henry Favol

TEY g T R weAl § (R 9 9 G wed 2 ael R e gaA 39 weten ud el i g
il

WEH whl g T & T A

) E‘EEEF"{WQW

(3) Aifeer $oed g

) T A BRI

Options:-

.1, Option ID :- 1145,
. 2, Option ID :- 1146,
. 3, Option ID :- 1147,

. 4, Option ID :- 1148,
Answer Given:- 3, Option ID ; -1147
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Time-Study was carried out by :

(1)  Favol

(2)  Maslow
(3)  Taylor
(4)  Herzberg

(1) %A g1

(2) T Ea

(3) ZoR gM

(4)  @stslil g
Options:-

.1, Option ID :- 1149,
. 2, Option ID :- 1150,
. 3, Option ID :- 1151,
. 4, Option ID :- 1152,
Answer Given:- 3, Option ID : -1151

Question ID:- 289

Who among the tollowing has not given Motivation theory ?
(1)  Maslow

(2) Herzberg

(3)  Mc Gregor

(4)  Fayol

(1) T

(2) . [y (3
(3) HEFE
(4) W

Options:-

.1, Option ID :- 1153,

. 2, Option ID :- 1154,

. 3, Option ID :- 1155,

. 4, Option ID :- 1156,

Answer Given:- 4, Option ID : -1156

Question ID:- 290
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Management is :

(1)  an Art

(2) a Science

(3)  both Art and Science

(4) nerther Art nor Science

e

(1) TF Fell

(2) T e

(3) ol 0 T aE

(4) A @ wer HE A B fEEE
Options:-

.1, Option ID :- 1157,
. 2, Option ID :- 1158,
. 3, Option ID :- 1159,
. 4, Option ID :- 1160,
Answer Given:- 3, Option ID : -1159

Question ID:- 291

Co-ordination 1s ;

(1) a merit of Management

(3

—

EEERRE
(1) &= 1 T T
(

Y HEH H TE F

(

)
2) WA I EE
)
(4)

YA ] Udh 3697

Options:-

.1, Option ID :- 1161,

. 2, Option ID :- 1162,

. 3, Option ID :- 1163,

. 4, Option ID :- 1164,

Answer Given:- 2, Option ID : -1162

Question ID:- 292

(2)  the essence of Management
a function of Management

(4)  an objective of Management
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A network of Social relationship, that arise spontaneously due to interaction at work, is known
as

Decentralisation

I

3

(1)

(2)  Delegation

(3)  Formal organisation
(

4)  Informal organisation

HIfsreR Hawi & TH A 5] HE T ST F w0 ST B #49 Ad 8, Fedd §

|u |—~

(1)
(2)

(3) AT HeA
)

(4) AT HiTe

Options:-

.1, Option ID :- 1165,

. 2, Option ID :- 1166,

. 3, Option ID :- 1167,

. 4, Option ID :- 1168,

Answer Given:- 4, Option ID : -1168

Question ID:- 293

Which element of ‘Business Environment’ is shaped by beliefs and customs of citizens
country ?

(1)  Ecomomic Environment

( Political Environment

(3)  Social Environment
(

4)  Legal Environment

‘SEar AT r‘-hl"i o1 a9 TFd] ?”«‘77 TF 'iIJIH"-hI e Hirﬂtﬂﬂ G WﬂTTW = _‘br ?
(1) T4 ammEe
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(2) TS ST

(3)  HHISE S

(4) ek drE

Options:-

.1, Option ID :- 1169,
- 2, Option ID :- 1170,
. 3, Option ID :- 1171,

. 4, Option ID :- 1172,
Answer Given:- 3, Option ID : -1171

Question ID:- 294




Globalisation is an example ot which tactor of Macro Environment ?
(1)  Economic

(2) Political

(3)  Technological

(4)  Social

(1) e

(2) EEIGED

(3) AT

(4) feeh
Options:-

.1, Option ID :- 1173,
. 2, Option ID :- 1174,
. 3, Option ID :- 1175,
. 4, Option ID :- 1176,
Answer Given:- 1, Option ID : -1173

Question ID:- 295

Which among the following is not a management thinker ?

(1)  F.W. Taylor
(2)  Henry Favol
(3)  Oliver Shaldon
(4)  Karl Marx

fafafaa ° 1 =0 gay fHas =i g7
(1) TEE=Y, I
(2) FHE wAE
(3)  HAfera dreeA
(4) el HE
Options:-
.1, Option ID :- 1177,
. 2, Option ID :- 1178,

. 3, Option ID :- 1179,

. 4, Option ID :- 1180,
Answer Given:- 4, Option ID : -1180

Question ID:- 296
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Who was the founder of Administrative Management ?
(1)  Max Webar
(2)  Elton Mayo
(3)  F.W. Taylor
(4)  Henry Fayol

5!& ;\:lpﬂﬂr HH"’I E‘E 7?17:91 JI'“IE f':F;‘;i éﬁ; ?

(1) e =

(2)  UEA A

(3) UREsd, el

(4) FT FATEA
Options:-

.1, Option ID :- 1181,
. 2, Option ID :- 1182,
. 3, Option ID :- 1183,
. 4, Option ID :- 1184,
Answer Given:- 4, Option ID : -1184

Question ID:- 297

Managerial Grid, as a pertormance evaluation tool was devised by :

(1)  Koontz and O'Donnel

(2)  Mouton and Blake

(3)  Trank and Lillian Gillberth
(4)  Peter I'. Drucker

oA geie 45 o w9 H gaes g e ) snfEamn e o
(1) s T3 31 EFa A

(2) H=A UE =0 A

(3) T 1F fafaaa fremd 3

(4) {120 T, goht 4

Options:-

.1, Option ID :- 1185,

. 2, Option ID :- 1186,

. 3, Option ID :- 1187,

. 4, Option ID :- 1188,

Answer Given:- 2, Option ID : -1186

Question ID:- 298
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Gang Plank is related with which principle ot Management ?
(1)  Onrder

(2)  Unity of Direction

(3)  Scalar Chain

(4)  Unity of Command

i i, e 3 e 1] 91 et ot 9 i 37

(1) =TFen
(2) W 1 wEA
(3)  HIE g

(4 1] Tl

Options:-

.1, Option ID :- 1189,

. 2, Option ID :- 1190,

. 3, Option ID :- 1191,

. 4, Option ID :- 1192,

Answer Given:- 4, Option ID : -1192

Question ID:- 299

Maonagement should find “one best way” to perform a task.

This statement is related with which technique of Scientitic Management ?
(1) Motion Study

(2)  Method Study

(3

Fatigue Study
(4

)
) Time Study

TE hHeA JAE TEH i TR T | Hetad g7

(1) fd sf=Ee

(2) fafg s
(3) " S
(4) TEA IHAA

Options:-

.1, Option ID :- 1193,
. 2, Option ID :- 1194,
. 3, Option ID :- 1195,

. 4, Option ID :- 1196,
Answer Given:- 2, Option ID : -1194

Question ID:- 300
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The concept of ‘Management by Objectives” was propounded by :

(1)  Paul Samuelson
(2)  E.W. Taylor
(3)  Henry Fayol
(4)  Peter F. Drucker

“arvEl gy gEs T H Heheddl 1 wiadea TR e
(1) 36 HH#AHA -

(2) TUE=EA, oW A

(3) & REE A

(4) =T U gL A

Options:-

.1, Option ID :- 1197,

. 2, Option ID :- 1198,

. 3, Option ID :- 1199,

. 4, Option ID :- 1200,

Answer Given:- 4, Option ID : -1200

Question ID:- 301

Management is termed as a process because :
(1) It is relevant for social organisations

(2) It is important for every organisation
(3)  Ttinvolves a series of functions

(4) It is applied to the manufacturing process

e &1 U GihAT F@] Al &, FF1F :
1

T I HSA B WHATE ©

I

(1)

(2) & PR HieA & HeyUl ©

(3)  IE ] UH GEel H HEd '
(4) = o Sl ue Ar] e e

Options:-

.1, Option ID :- 1201,

. 2, Option ID :- 1202,

. 3, Option ID :- 1203,

. 4, Option ID :- 1204,

Answer Given:- 2, Option ID ; -1202

Question ID:- 302
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Which of the following ‘Management Functions” are closely
(1) Planning and Stafting

(2)  Plannng and Organising

(3)  Planning and Controlling

(4)  Stafting and Controlling

= 0 g9 o e el 1 e Hey @ 7

(1) Trmem va s

(2) A Td HreA

(3) THEmE @ FEA

~

(4) TrfaasTm ug T

Options:-

.1, Option ID :- 1205,

. 2, Option ID :- 1206,

. 3, Option ID :- 1207,

. 4, Option ID :- 1208,

Answer Given:- 3, Option ID : -1207

Question ID:- 303

Long-term mvestment decision is also known as
(1)  Capital Budgeting Decision

(2)  Dividend Decision

(3)  Working Capital Decision

(4)  Cash Management Decision

aree e o w1 5 9m | s S S
(1) dsf gt A

(2) @Y O

(3) e gu o

(4) kg wey i

Options:-

.1, Option ID :- 1209,

. 2, Option ID :- 1210,

. 3, Option ID :- 1211,

. 4, Option ID :- 1212,

Answer Given:- 1, Option ID : -1209

Question ID:- 304

s related ?
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‘Internal Rate of Return Technique’ is used for :
(1)  Working Capital Decision
(2)  Venture Capital Decision
(3)  Dividend Decision
(

4)  Capital Budgeting Decision

“UeIrT I 37T o ddhATE | BT STE B @
(1)  =Frire Ie0 o &g
(3) e A Eg

(4) S FwEn o g

Options:-

.1, Option ID :- 1213,

. 2, Option ID :- 1214,

. 3, Option ID :- 1215,

. 4, Option ID :- 1216,

Answer Given:- 4, Option ID : -1216

Question ID:- 305

Excess of ‘Current Assets” over ‘Current Liabilities” is known as :
(1)  Net Fixed Capital

(2) Net Working Capital
(3)  Gross Fixed Capital

(4)  Gross Working Capital

B 1 et 2 e T Aot = e e o e A o2 M 1 T 1
(1) 75 ¥ s

(3) TS T YA

(4)  Hehed el delf

Options:-

.1, Option ID :- 1217,

. 2, Option ID :- 1218,

. 3, Option ID :- 1219,

. 4, Option ID :- 1220,

Answer Given:- 2, Option ID : -1218

Question ID:- 306
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Enough working capital is an indicator of which quality of the business ?
(1) Weakness

(2)  Growth

(3)  Strength

(4)  Liquidity

~

(1} 3

(2) wEE
(3) TS
(4)  deddl
Options:-

.1, Option ID :- 1221,
. 2, Option ID :- 1222,
. 3, Option ID :- 1223,
. 4, Option ID :- 1224,
Answer Given:- 4, Option ID : -1224

Question ID:- 307

“Commercial Bills Market” is a part of :

(1) Organised Money Market
(2)  Stock Market

(3)  Capital Market

(4)  Unorganised Money Market

“artorferer Taa areR T v E

(1)  Hilad a1 =TI 1
(2) TR FTSE R
(3) IS AT H
(4)  sTATT HEl SIS ol
Options:-
.1, Option ID :- 1225,
. 2, Option ID :- 1226,

. 3, Option ID :- 1227,

. 4, Option ID :- 1228,
Answer Given:- 1, Option ID : -1225

Question ID:- 308
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Which of the following is not an instrument of Money Market ?
(1)  Commercial Paper

(2)  Certilicate of Deposit

(3)  Treasury bill

(4)  Equity Share

e o 9 gzt F1eR Yod RE-A A8 @
(1y  =forfs=rr gu=

(2)  SH GH-TH

(3) T fae

(4) = A

Options:-

.1, Option ID :- 1229,

. 2, Option ID :- 1230,

. 3, Option ID :- 1231,

. 4, Option ID :- 1232,

Answer Given:- 4, Option ID : -1232

Question ID:- 309

What 1s the maximum period tor which commercial paper can be issued ?
(1) 3 Months

(2) b Months

(3) 1 Year

(4) 2 Year

Fifofrg 907 #1 Afmwan fFwa s1afy &g 5l o 1 v § 7
(1) 37
2) eTE
3y 1M

) 2

3

(
(4

Options:-

.1, Option ID :- 1233,

. 2, Option ID :- 1234,

. 3, Option ID :- 1235,

. 4, Option ID :- 1236,

Answer Given:- 3, Option ID : -1235

Question ID:- 310
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In which year the "Securities and bxchange Board of India” was established ?

(1) 1987
(2) 1988
(3) 1989
(4) 1990

(1) 1987
(2) 1988
(3) 1989
(4) 1990

Options:-

.1, Option ID :- 1237,

. 2, Option ID :- 1238,

. 3, Option ID :- 1239,

. 4, Option ID :- 1240,

Answer Given:- 2, Option ID : -1238
Question ID:- 311

The oldest Stock Exchange in Asia s -
(1) Berjing Stock Exchange

(2)  Shanghai Stock Exchange

(3)  Bombay Stock Exchange

(4)  Tokyvo Stock Exchange

ufeEn O WA S e §
(1) =i =y fatms

(2) T Y T

(3) = =y At

(4) 21l sk falem

Options:-

.1, Option ID :- 1241,

. 2, Option ID :- 1242,

. 3, Option ID :- 1243,

. 4, Option ID :- 1244,

Answer Given:- 3, Option ID : -1243

Question ID:- 312
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Which body regulates the working ot the financial markets in India ?
(1) Securities and Exchange Board of India

(2)  Ministry of Corporate Affairs

(3)  Reserve Bank of India

(4)  Minstry of Finance

SR H (o™ TS @ 1] ) A S S #d) @ 2
(1) = gfasyf@ A&t @

(2) NI FE T

(3) A e g

(4) T =

Options:-

.1, Option ID :- 1245,

. 2, Option ID :- 1246,

. 3, Option ID :- 1247,

. 4, Option ID :- 1248,

Answer Given:- 1, Option ID : -1245

Question ID:- 313

Workers learn their work on the equipment, but the training is conducted away from the ac
place of work.
Which method of training is explained here ?
(1)  Apprenticeship Training
(2)  Internship Training
[
(3)  Vestibule Traming
(4) Coaching

gfaes AT F14 SURL I HAEd €, W Ui w6 AESE, w F s w0H 3 1 o @
e 9 fm Ff # SmEn H w E

(1)  wrorsg giererm

(2)  FATe wiremm
(3)  geRI=uTel g
(4) I

Options:-

.1, Option ID :- 1249,
. 2, Option ID :- 1250,
. 3, Option ID :- 1251,

. 4, Option ID :- 1252,
Answer Given:- 3, Option ID : -1251
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Induction of new employees is also known as :

(71) Incentives
(2) Training

(3) Placement
(4) Introduction

3 =] o ey R 2 A H T S S E

(1) T
(2) g
(3) FEAE
(4)  wi=

Options:-

.1, Option ID :- 1253,
. 2, Option ID :- 1254,
. 3, Option ID :- 1255,
. 4, Option ID :- 1256,
Answer Given:- 4, Option ID : -1256

Question ID:- 315

Which of the following statement is correct ?
(1)  Selling and Marketing are same

(2)  Marketing is a part of Selling

(3)  Selling is a part of Marketing

(4)  There is no relaion between Selling and Marketing

= o | FF-T Fo JE 27

(1) Taspaw ud faoue, =M 0% 27 8

(2)  Taqua, fasRem = wE v E

(3)  TasEam, faum = U e

(4)  Tasearm qu faqom o #08 deis T8 2
Options:-

.1, Option ID :- 1257,

. 2, Option ID :- 1258,

- 3, Option ID :- 1259,

. 4, Option ID :- 1260,
Answer Given:- 3, Option ID : -1259

Question ID:- 316
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Which one ot the following 1s not a part of Marketing - mix ?
(1) Product

(2)  Workshop

(3)  TPrice

(4) Place

Ffefad 1§ 9 ®H W us fago=-Tag = am 96 8 2

(1) =ea=
'.{2) D C
( 3) Hed
(4) =

Options:-

.1, Option ID :- 1261,
. 2, Option ID :- 1262,
. 3, Option ID :- 1263,
. 4, Option ID :- 1264,
Answer Given:- 2, Option ID : -1262

Question ID:- 317

Which of the following is not a standardisation mark for quality assurance ?
(1)  Ecomark

(2)  Agmark

(3)  Trademark

(4)  Hallmark

= o FH-T1 [IEE SAVETEA 2 T 5 T 2 7

(1) FHmEE
(2) T
(3) gEATE
(4) @1 &
Options:-

.1, Option ID :- 1265,
. 2, Option ID :- 1266,
. 3, Option ID :- 1267,
. 4, Option ID :- 1268,
Answer Given:- 3, Option ID : -1267

Question ID:- 318
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The agreement of Partnership :

(1)  Must be Oral

(2)  Must be Written

(3)  Must be Written on Stamp Paper
(4)  Can be Oral or Written

(1) WifEs & g =1En

(2) fafeEd & & =y

(3) =R fEhEa & A =En

(4) HifE® @om fafea 2 J%a @
Options:-

.1, Option ID :- 1269,
. 2, Option ID :- 1270,
. 3, Option ID :- 1271,
. 4, Option ID :- 1272,
Answer Given:- 4, Option ID : -1272

Question ID:- 319

A Company Secretary appomted in a pubh'c company by the :

(1) Shareholders
(2)  Public
(3)  Board of Directors

(4)  Government

T GESF O O HeH s # i e g
(1)  sfernfer gm

(2) =

(3) HHETE Hed 51

(4)  HERTEH

Options:-

.1, Option ID :- 1273,

. 2, Option ID :- 1274,

. 3, Option ID :- 1275,

. 4, Option ID :- 1276,

Answer Given:- 3, Option ID : -1275

Question ID:- 320

pPpetprime.com




Statutory meeting must be conducted by the :
(1)  Partmership Fims

(2) Private Companies
(3)  Public Companies
(

4)  Statutory Companies

Jenfa wo wfarda; e =1 9 =t
(2) 7= FuEE g
)

)

HEF HE §RT
T_%Ei P;-EFF, a:,q "%‘f‘i' gm

Options:-

.1, Option ID :- 1277,

. 2, Option ID :- 1278,

. 3, Option ID :- 1279,

. 4, Option ID :- 1280,

Answer Given:- 3, Option ID : -1279

Question ID:- 321

‘Need Hierarchy Theory of Motivation” was propeunded by :

(1)  Peter F. Drucker
(2)  AH. Maslow
(3)  T. Herzberg

(4)  W.G. Scott

ST & S{EvAEal e Tagia =1 giaarea fa 7 o1 -

(1) HZ TF FH 5
(2) TIE. TEel g
(3) T S G

(4) ==Ll FRIZ G

Options:-

.1, Option ID :- 1281,

. 2, Option ID :- 1282,

. 3, Option ID :- 1283,

. 4, Option ID :- 1284,

Answer Given:- 2, Option ID : -1282

Question ID:- 322

pPpetprime.com




The sender converts the message into communication symbols by
(1)  Encoding
(2)  Feedback
( 3) Media

(4)  Decoding

YR Hay] sl GHgY fo2] o aiafda s @

(1) F2eE 50
(2) FfagfE Em
(3) itz g
(4)  fadETT g
Options:-

.1, Option ID :- 1285,
. 2, Option ID :- 1286,
. 3, Option ID :- 1287,
. 4, Option ID :- 1288,
Answer Given:- 1, Option ID : -1285

Question ID:- 323

Grapevine is assoclated with :
(1) Vertical Communication
(2)  Informal Communication
(3)  TFormal Communication

(4)  Horizontal Communication

(1) Fad 99T 3

(2)  STEETE AW o
(3)  FEE HUE A
(4) @St Huyam 4

Options:-

.1, Option ID :- 1289,

. 2, Option ID :- 1290,

. 3, Option ID :- 1291,

. 4, Option ID :- 1292,

Answer Given:- 2, Option ID : -1290

Question ID:- 324
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‘Status’ comes under which of the tollowing type ot barriers of communication ?
(1)  Personal Barrier

(2)  Organisational Barrier

(3)  Semantic Barrier
(

4)  Psvchological Barrier

“ofaar’” Wi ] fed TR T st 0 s 8 7
(1) =afaama aren

(2)  HITSATHE FHI

(3) T AT

(4) HAESIAE A

Options:-

.1, Option ID :- 1293,

. 2, Option ID :- 1294,

. 3, Option ID :- 1295,

. 4, Option ID :- 1296,

Answer Given:- 2, Option ID : -1294
Question ID:- 325

The interval between two "Annual General Meetings’, of a Public Company, shall not exceed
(1) 15 Months
(2) 18 Months
(3) 20 Months
(4) 12 Months

el HESAF Fa41 &1 2 arfied qemm w5 &g 999-dand e 9 sty 9 8

(1) 15 7E
(2) 18 WE
(3) 20 HE
(4) 12 HE
Options:-

.1, Option ID :- 1297,
. 2, Option ID :- 1298,
. 3, Option ID :- 1299,
. 4, Option ID :- 1300,
Answer Given:- 2, Option ID : -1298

Question ID:- 326
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Which of the following is correct meaning ot “Span ot Control” ?
(1)  Every subordinate has one superior

(2)  An organisation consists of various departments

(3)  Authority of each employee is clearly detined

(4) A manager can supervise only a lnmited number of subordinates

e 4 i e forafa =1 9 914 #H- W g ?

(1) W ST R T SHRET B 81

(2)  TF A T FE faumw 2 ¥

(3) TCAE HHAR] o AEN T TR F

(4) U GAEE, AL I UE HIHA HEN A B I w5 Hed 2 |
Options:-

.1, Option ID :- 1301,

. 2, Option ID :- 1302,

. 3, Option ID :- 1303,

. 4, Option ID :- 1304,
Answer Given:- 4, Option ID : -1304

Question ID:- 327

‘Human Relating Approach’ to manavement is viven by ;
() L) }_) J

(1)  Peter F. Drucker
(2)  Henry Favol
(3)  Elton Mavo
(4)  T.W. Taylor

was] = qEE e "ae g e e
(1) T2 T% $H 5M
(2) EF wARE g

(3)

(4)  UEEwd, 2ol gH

TUeaA T4 g7

Options:-

.1, Option ID :- 1305,

. 2, Option ID :- 1306,

. 3, Option ID :- 1307,

. 4, Option ID :- 1308,

Answer Given:- 3, Option ID ; -1307

Question ID:- 328
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"Theory X and Theory Y of Motivation was propounded by :
(1)  Herzberg

(2) Norman

(3)  Douglas McGregor

(4)  AH. Maslow

srfare o ¢ ua Tagid ag1 a9 fagia’ & afagea fear o

(1) &= gol
(2) EEA B

(3) =T TR G
(4) TUHE, T g

Options:-

.1, Option ID :- 1309,

. 2, Option ID :- 1310,

. 3, Option ID :- 1311,

. 4, Option ID :- 1312,

Answer Given:- 3, Option ID : -1311

Question ID:- 329

Which of the following is not a feature of Quality Circle ?
(1) Large Size

(2) Regular meetings

(3)  Quality focused

(4)  Voluntary groups

U E4 ] [Eeal e 5 W - A8 27

(1) =l 31
(2) TratHa "y
(3) U Fd
(4) wf=ss 9E
Options:-

.1, Option ID :- 1313,
. 2, Option ID :- 1314,
. 3, Option ID :- 1315,
. 4, Option ID :- 1316,
Answer Given:- 1, Option ID : -1313

Question ID:- 330
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Which of the tollowing day is observed as “World Consumer Rights Day” ?
(1)  March 13
(2)  March 14
(3)  March 15
(4)  March 16

T 1 | fom faa = fowa susitr stfoeer foam' & &9 3 9Am) =il ¢ 7

(1) 139+
(2) 1479
(3) 15 7=
(4) 1o 9™
Options:-

.1, Option ID :- 1317,
. 2, Option ID :- 1318,
. 3, Option ID :- 1319,
. 4, Option ID :- 1320,
Answer Given:- 3, Option ID : -1319

Question ID:- 331

Which ot the f(':]h‘n—fing instrument is used for mter-bank transactions for short term fine
repavable on demand with a maturity period of one day to fifteen days 7

(1)  Commercial Paper

) Call Money
4)  Treasury Bills

2} Inter-Corporate Deposits
-
o)

(
(
(

e H 558 Word & siat-d oe | sTeasEel a9 29 we e Sl €, aun et i o
T o H TeeE feF A% T Aml & W T Wi W e e #

(1) =t g

(2) AT

(3}  HFE

(4) = fae

Options:-

.1, Option ID :- 1321,

. 2, Option ID :- 1322,

. 3, Option ID :- 1323,

. 4, Option ID :- 1324,

Answer Given:- 3, Option ID : -1323

Question ID:- 332
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Which concept reters to crease in protits of the bquity shareholders due to the use of Long-term
Debts 7

(1) Trading on bEquity

(2)  Sale-purchase of Lguity shares in Stock Market
(3)  Return on Investment

(4) Cash Flow

FE-H AT, SR F50 ] SN FG g0, W) A9 F o § Jfg W Haftad 27
(1) HHdl 92 =991
(2) AW AR | HHA $790 F FA-TEHA Fw

(3) AW W gem

(4) g AR

Options:-

.1, Option ID :- 1325,

. 2, Option ID :- 1326,

. 3, Option ID :- 1327,

. 4, Option ID :- 1328,

Answer Given:- 1, Option ID : -1325
Question ID:- 333

Which of the following is an Accounting Equation ?
(1)  Liabilittes = Assets + Capital
(2) Capital = Assets — Liabilities
(3)  Capital = Assets + Liabilities

(4)  Assets= Liabiities — Capital

= o | e SuE -1 7

(1) =Famd = Fgfe= + g

(2) Ot = Fufeay - gzand

=

(3) ISt = HufeEr - g

(=

(4)  Hufear = <xam - i

pPpetprime.com

Options:-

.1, Option ID :- 1329,

. 2, Option ID :- 1330,

. 3, Option ID :- 1331,

. 4, Option ID :- 1332,

Answer Given:- 2, Option ID : -1330

Question ID:- 334




‘Making provisions tor Doubttul Debts’ is an example of which accounting convention ?
(1) Materiality

(2)  [Full Disclosure

(3)  Busmess bEntity

(

4)  Prudence

“ifary B ag WEEE F, WEiEA B RE I SRR ¢ 7
(1) =R
(2) 7 FehelhiD
(3) TATEE THEE
(4) wiegares
Options:-
.1, Option ID :- 1333,
. 2, Option ID :- 1334,
« 3, Option ID :- 1335,
. 4, Option ID :- 1336,
Answer Given:- 4, Option ID : -1336

Question ID:- 335
According to which Accountin g concept, ‘Income Tax" paid by the proprietor is debited to Draw!
Account ?

(1)  Going Concern

(2)  Prudence
(3)  Accrual
(4)  Business bEntity

T 1 RE STEUR % SR, Ukl ST g A R T S #E R SR @ oA o
FHA1E ?
(1y =] SHaHA

(2) el
(3} IS
(4)  FEEE EEE

Options:-

.1, Option ID :- 1337,

. 2, Option ID :- 1338,

. 3, Option ID :- 1339,

. 4, Option ID :- 1340,

Answer Given:- 4, Option ID : -1340

Question ID:- 336
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The head ottice ot “The Institute of Cost Accounts of India” is located at -
(1)  Chenna

(2) Delh:

(3) Mumbai

(4) Kolkata

“fa dediegz s 2 uskI3dzy i gfear’” s qreer fera 2

(1y ==z d
(2) freet o
(3) HAEEH
(4) R H
Options:-

.1, Option ID :- 1341,
. 2, Option ID :- 1342,
. 3, Option ID :- 1343,
. 4, Option ID :- 1344,
Answer Given:- 4, Option ID : -1344

Question ID:- 337

In ‘Double Entry System” of Accounting, every business transaction affects
(1)  at least two accounts

(2)  two accounts

(3)  more than two accounts

(4)  two sides of the same account

A F 2T wE] e | U SHa i EeR wided Yuiad i 8

(1) =I7a9 & Bl &

(2) & =

(3) =Y AE @ #
(4) U & Ed ok < s )

Options:-

.1, Option ID :- 1345,

. 2, Option ID :- 1346,

. 3, Option ID :- 1347,

. 4, Option ID :- 1348,

Answer Given:- 1, Option ID : -1345

Question ID:- 338
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Machinery ot the book value of T 15,000 was sold tor 15,000 and new machine was purchased
tor T 10,000 and cartage of T 250 was paid for machine. Compute the amount of capital expenditure.
(1) T 10,000

2) % 15,000

3 Z 9,000

(
(
(4) T 10,250

% 15,000 = Jish JoH sl 1AL 1 T 15,000 H <=1 a1 T 10,000 =1 441 5974 %4 1 {59 9 T 250 wie
T | 95 = =1 Ui 9 F i)

(1) % 10,000
(2) T 15,000
(3) % 9,000
(4) T 10,250

1
2
]
2

Options:-

.1, Option ID :- 1349,

. 2, Option ID :- 1350,

. 3, Option ID :- 1351,

. 4, Option ID :- 1352,

Answer Given:- 4, Option ID ; -1352

Question ID:- 339

Which of the following is not a tunction of Aecounting, ?
(1) Profit Maximisation

(2) Keeping systematic records

(3)  Meeting legal requirements

(4)  Protecting the assets of Business

T o 9 ol ] A1 hiH-4] 48] ¢ 7
(1) T4 =1 3TeaRan &won

(2) At sleE T
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(3) T SAHTAEATS T R

(4)  FFEEE H AT B A

Options:-

.1, Option ID :- 1353,

. 2, Option ID :- 1354,

. 3, Option ID :- 1355,

. 4, Option ID :- 1356,

Answer Given:- 4, Option ID : -1356

Question ID:- 340




What is to be prepared after ledger-posting ?
(1)  Trial Balance

(2) Trading Afc

(3)  Profit and Loss A/c

(4)  Balance Sheet

(1) o192

(2) =T

(3)  ©M¥-E1H =
(4) et Tz
Options:-

.1, Option ID :- 1357,
. 2, Option ID :- 1358,
. 3, Option ID :- 1359,
. 4, Option ID :- 1360,
Answer Given:- 1, Option ID : -1357

Question ID:- 341

The return of goods by a customer should be debited to
(1)  Sales Account

(2)  Customer Account

(3)  Return Inward Account

(4)  TPurchase Return Account

(1) Tawzawamy
(2) TmEE = A
3)

)

Y AT 2T =T H

(
(4) s Al =R H
Options:-

.1, Option ID :- 1361,

. 2, Option ID :- 1362,

. 3, Option ID :- 1363,

. 4, Option ID :- 1364,

Answer Given:- 3, Option ID : -1363

Question ID:- 342

TR BT ST9A T2 T4 97 I 194 T =11 =ien
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The process ot transter the entries, from subsidiary books to ledger, is known as :
(1) Balancing

(2)  Journalising

(3)  Posting

(4)  Transferring

e Aied | Edl FEl H oiEl & esiil B A Fedl 8

(1) ¥ e
(2)  IEEmEd FA
(3)  TEAE Al

(4) AT

Options:-

.1, Option ID :- 1365,

. 2, Option ID :- 1366,

. 3, Option ID :- 1367,

. 4, Option ID :- 1368,

Answer Given:- 3, Option ID : -1367

Question ID:- 343

A and B share profits and losses in the ratio of 4 : 3. They admit C for lm share in profits.
8

new profit sharing ratio of A, B and C will be:

(1) 4:3:1

(2) 4:3:3

(3) 5:2:2

(4) 4:3:4

HAME 43 TA G o-aA gted 1 g e § L oumag 9 @ wftd w@ E v @ awm A

o
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e - favrEE ST w0

(Iy 4:3:1
(2) 4:3:3
(3) 5:2:2
(4) 4:53:4
Options:-

.1, Option ID :- 1369,
. 2, Option ID :- 1370,
. 3, Option ID :- 1371,

. 4, Option ID :- 1372,
Answer Given:- 1, Option ID : -1369




The tinancaal position of a trading business is ascertained by preparing :

(1) Trial Balance

(2)  Trading Account

(3)  Balance Sheet

(4)  Trading and Profit & Loss Account

(1) T
(2)  FITOR

(3)  qo
(4)  SHIHR d9l ofv-21f= =il

Options:-

.1, Option ID :- 1373,

. 2, Option ID :- 1374,

. 3, Option ID :- 1375,

. 4, Option ID :- 1376,

Answer Given:- 3, Option ID : -1375
Question ID:- 345

Goods withdrawn by the proprietor from business, for his ;" her persomal use, will be credited
(1) Drawings Account

(2} TPurchases Account

(3)  Sales Account

(4)  Proprietor’s Account

ek FATHI g1 SAFHE H H, 0 Sl U &d, el T Hiet sl s e s
(1)  sT@dm &d o
ERREIGR:

(4)  Ushed F=HT ok =T H

Options:-

.1, Option ID :- 1377,

. 2, Option ID :- 1378,

. 3, Option ID :- 1379,

. 4, Option ID :- 1380,

Answer Given:- 2, Option ID : -1378

Question ID:- 346
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Which of the tollowing account will invariably have a debit balance ?

(1)  Accounts Receivable

(2)  Accounts Payable

(3)  Bank Account

(4)  Current Account of a Partner

e o Ty @i = Hde A1H 99 2l 2l B 2

(1) W= e
(2) @ATE

(3) e T

(4) HIEE F =] =

Options:-

.1, Option ID :- 1381,

. 2, Option ID :- 1382,

. 3, Option ID :- 1383,

. 4, Option ID :- 1384,

Answer Given:- 1, Option ID : -1381

Question ID:- 347

Pre-paid Rent is a :
(1) TPersonal Account
(2)  Expense Account
(3)  Real Account

(4)  Nominal Account

(1) AT =
(2) =T EE

(3) ArEEE E

(4)  sEmdfgE Grdl

Options:-

.1, Option ID :- 1385,

. 2, Option ID :- 1386,

. 3, Option ID :- 1387,

. 4, Option ID :- 1388,

Answer Given:- 1, Option ID : -1385

Question ID:- 348
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A pubhc company can charge interest on calls in arrears at the rate not exceeding :

(1) 10% p.a.
(2) 11% p.a.
(3)  12% p.a.

(4)  13% p.a.

ek A% &A1 s ] 9 AT of Fehdl ¢ (] ot (4 1 e 9 @

(1) 10% 94
2) 11% 94
(3)  12% uA.

(4)  13% WA

Options:-

.1, Option ID :- 1389,

. 2, Option ID :- 1390,

. 3, Option ID :- 1391,

. 4, Option ID :- 1392,

Answer Given:- 1, Option ID : -1389

Question ID:- 349

[ncome & Expenditure Account is prepared by a ‘Neot-for-Profit organisation” on :
(1)  Receipt Basis

(2)  Accrual Basis

(3)  Cash Basis

(4)  Accrual-cum-Cash Basis

T F FHAF A JaA g - e e .
(1) e sT9R T
(2) IUEA AYUR T
(3)  TEE AHRE W
(4)  SUSiH ud kg SN 9
Options:-
.1, Option ID :- 1393,
. 2, Option ID :- 1394,

- 3, Option ID :- 1395,

. 4, Option ID :- 1396,
Answer Given:- 2, Option ID : -1394

Question ID:- 350
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Which 1s true about Reserve Capital ?

(1) Ttis to be called at the time of winding-up of the company
(2) It is apartof called-up capital

(3) A charge can be created against it

(4)  Itis to be called for expansion of the business
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Options:-

.1, Option ID :- 1397,

. 2, Option ID :- 1398,

. 3, Option ID :- 1399,

. 4, Option ID :- 1400,

Answer Given:- 1, Option ID : -1397

Question ID:- 351

“A company is an artificial person created by law having a separate entity with a perpe
succession and a common seal”

This statement was given by ¢

(1) Justice James

(2)  Lord Lindley

(3)  Lord Keynes

(4) L.H. Haney
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Options:-

.1, Option ID :- 1401,
. 2, Option ID :- 1402,
. 3, Option ID :- 1403,

. 4, Option ID :- 1404,
Answer Given:- 4, Option ID : -1404
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Phoot Singh's capital on April 1, 2021 was T 90,000, Information regarding 2021-22 is as under :

=
Interest on Drawings 10,000
Interest on Capital 4,000
Drawings 28,000
Protit 30,000

Calculate the capital of Phool Singh as on March 31, 2022.
(1) ¥ 1,38,000

(2) T 134,000

(3) T 86,000

(4) T 94,000

1 319@ 2021 =1 el 67 &1 951 T 90,000 =1 2021-22 F Fa F FEA1 efatad €

4
ST Y S 10,000
TSl T AT 4,000
R 28,000
GIE| 30,000

31 TrE 2022 1 P fog 7 gt qfwtEa wmifem

(1) T 1,38,000
(2) T 1,34,000
(3) T 86,000
(4) T 94,000

Options:-

.1, Option ID :- 1405,
. 2, Option ID :- 1406,
. 3, Option ID :- 1407,

. 4, Option ID :- 1408,
Answer Given:- 3, Option ID : -1407
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Interest coverage ratio is :

Profit before Tax

1

(1) Interest on Debt

7 Net Profit

() Interest on Debt

3 Profit before Interest and Taxes

( Interest on Debt
Long-term Debts

(4)

Interest on Debt
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Options:-

.1, Option ID :- 1409,

. 2, Option ID :- 1410,

. 3, Option ID :- 1411,

. 4, Option ID :- 1412,

Answer Given:- 3, Option ID : -1411
Question ID:- 354

Stock Turnover Ratio is .
) Profitability Ratio
) Activity Ratio

} Solvency Ratio

) Liquidity Ratio

HI |

(
(
(:
(4

pPpetprime.com




e B B B B Y B | £']I\! L.

(1) TN99ear =M
(2)  Tfdfafy wraE
(3)  FTEFETHA SO
(4) TLAdT HIE
Options:-

.1, Option ID :- 1413,
. 2, Option ID :- 1414,
. 3, Option ID :- 1415,
. 4, Option ID :- 1416,
Answer Given:- 2, Option ID : -1414

Question ID:- 355

The maximum number of members in a private company can be :

(1) 100
(2) 150
(3) 200

(4)  Unlimited

o

T Tl #A o Hei & AfEaH | B 99T 8

(1) 100
(2) 150
(3) 200
(4)  #AHEIH
Options:-

.1, Option ID :- 1417,
. 2, Option ID :- 1418,
. 3, Option ID :- 1419,
. 4, Option ID :- 1420,
Answer Given:- 3, Option ID : -1419

Question ID:- 356
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Griven information

I
Total Sales 4,40,000
Return Inward 40,000
Gross Profit 1,00,000
Closing Stock 1,20,000
Excess ot closing stock over opening stock 40,000
Calculate the stock Turnover Ratio .
(1) 1 Times
(2) 2 Times
(3} 3 Times
(4) 4 Times
=1 T A I
EAEER 4,40,000
EIRGIRIEED 40,000
Hehel oY 1,00,000
wfay wEfan 1,20,000
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Options:-

.1, Option ID :- 1421,
. 2, Option ID :- 1422,
. 3, Option ID :- 1423,

. 4, Option ID :- 1424,
Answer Given:- 1, Option ID : -1421

Question ID:- 357

Dividend 1s usually paid on :

(1)
(2)

(3)
(4)

Issued Capital
Uncalled Capital
Paid-up Capital
Authorised Capital

40,000
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Options:-
.1, Option ID :- 1425,
. 2, Option ID :- 1426,
. 3, Option ID :- 1427,
. 4, Option ID :- 1428,

Answer Given:- 3, Option ID ; -1427

Question ID:- 358

Dividend paid by a finance company is categorised as :
(1)  Wasting Activity

(2) Operating Activity

(3)  Financing Activity

(4)  Investing Activity

e T FA g1 AN (R4 T @i ) S A S
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Options:-

.1, Option ID :- 1429,

. 2, Option ID :- 1430,

. 3, Option ID :- 1431,

. 4, Option ID :- 1432,

Answer Given:- 3, Option ID : -1431

Question ID:- 359

Which of the following transaction will not result into flow of cash ?
(1)  Redemption of 8% Debentures ¥ 7,00,000

(2) lssue of Preference shares ¥ 2,00,000

(3 Sale of Plant ¥ 3,50,000

(4)  Cash deposited in Bank ¥ 30,000
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(1) 8% RO &1 794 ¥ 7,00,000
(2)  gETERRT S A R % 2,00,000
(3)  HA3 w1 =R T 3,50,000

e

(4) H% H AEFS S AP T 30,000

Options:-

.1, Option ID :- 1433,

. 2, Option ID :- 1434,

. 3, Option ID :- 1435,

. 4, Option ID :- 1436,

Answer Given:- 4, Option ID ; -1436

Question ID:- 360

From the fnﬂnwing information, calculate cash flow from Investing Activities :

March 31, 2021 March 31, 2022
< 4
Land (at cost) 20,00,000 16,00,000

Land was sold at a profit of ¥ 3,20,000.
(1)  Inflow of T 7,20,000

(2)  Intlow of T 4,00,000

(3)  Intlow of T 3,20,000

(4) Intlow of ¥ 19,20,000

(1S3 |, R R | U WAt R e I |

31T 2021 31 THE 2022
7 4
S (FARTd W) 20,000,000 16,00,000

qfF F1 F 3,20,000 F 0T T A T AT
(1) sf=die T 7,20,000

(2) HA-TATE T 4,00,000
( i

3 wEAE T 3,20,000
(4)  s=ER T 19,20,000

Options:-

.1, Option ID :- 1437,
. 2, Option ID :- 1438,
. 3, Option ID :- 1439,

. 4, Option ID :- 1440,
Answer Given:- 1, Option ID ; -1437
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